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X172 LOWMR KDY 12 N0 WY AT 17931 1D DD WY 117 1D NPhawsT PRI 7' [2 Ty e 7]
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1) mnpn
a) mnba0 are mann that a 1nn gives to a 792

b) the mwn deals with whether a 1nn or his o*wa1 can take back (be 7213) his mn20
if the 1nm or 7% dies or if the 1nm is waan the 795

2) mwn
a) xwnas explained by o"awn
i) if 3nn n7wo 2oK
(1) mn>ao that are m»2% 1wy aren’t Pax
(2) 720 that are m22% WY PR MNHI0 are Pan
i) if 3nn n7wo HaR X2 even mivhao that are m2% wy are Pax

77233 PR mbab Py oox | 1
an WY PR ooR | 2
mHvab
T | WY PR W'D WY 199DR oKX | 3
mHvab moah

b) w90
i) "a%va neab emnw Parn mnbao" are P2
i) "maR N2 372 wanwNw Puym MN2an" aren’t Pa



3)

4)

5)

6)

7)

8)

a"awn

a) "79va N mnw PAn" means nbao that the (i was wHon that the 753 was to
take to 7y n*a (7%va N2k W)

b) "mvax 022172 wanwnw Puyn" means mnbao that the 1nn was waon that the 793
was to use in max n°a (PR N2 o)

Tqwnn of o"awn

a) If 7ax noa% wod the MNbao aren’t 12231 even if 1nn n7Wo 9aR X — the xw of the
mwn deals with ano where the jnn wasn’t w97

P23 PR WD XYY N0 mua> Pwy SR |1
AR N2
77231 WD XYY N0 mva% WY PR SR | 2
AR N2
77231 WD RD1 OND TIVY 199K SR KD | 3
7°aR N22Y mHvab
Pan PR WA PUYmN bR 8P R | 4
2R N2

XX 17 ®n°>12 as explained by o"awn
a) In a case of ono where 9%
i) Asin line 1 the nn>20 that were m72% 1wy were 12331 PR
ii) Asin line 2 the n%20 that were m72% MWy PR were 1ax
Rapfab}
a) TP

i) It’s more 1anon that mn%ao that aren’t Pya (because 13) are 1231 PR — and that
mn>2o that are 1va (because 122 &) are 1ax

b) xa1°va
i) Inacase of onoy %ax in the xwn

ii) If mn»20 are n92% 1wy but happen to be 192 X7 and are 1°v2 — do they count as
221 Mm% prwy that are Pax1 P as in line 1or do they count as 1wy X"
"n172% that are paxias in line 2

0"aw" as explained by X"wAn

a) The x°v2°x applies also on an 17 *¥»°n ox basis where there are both nn%a0
172 K71 M22° Mwyw and mY2% vy 1PRY M11720

b) % >xn°n ok that Y92 891 M22% Pwy are 12231 P — would the 7 still be 12231 P
where there are also m72% Pwy PRw that are 1721

XM
a) Nwp



i) be v the X°y2>x from the xn>>72 of xnx " that involved both M wyw mnoao
Mm% and 1727 Pwy PRY MNP0 — and it’s vawn that the xn°>12 wasn’t ponn
between 1921 N2 1wy and 192 X91 M22% Pwy and that both are pax X

ynv xn a"T10"awn "2 770 nni7aoT Xaio

nox Bop 1D B2 MBS PIYa IR MY PIWY PRWS CXIND 27 0 mnbao yew Xn ''7a
TIZY PR T PPAMENR2 21 AWADS VAR WINIS2 RDID TIT 791 MDY IIRXY PR DY M1 R 19
N7 NPIOR RP2 BN AR NY22 IR WRANWNW 97D WNIBR 20UYIRAT 12 P Mmbath Py nmbash
N7 DORY MDY IIWY PR RSO0 PLIM T HITY KD UM AN PR MDY PY PR 2N aw
Mb2% MWPR IO NPIDR KD WD PUPM TR WIS POW KDWY W 27T KUK RWON2T 2w
MY PRRI NIV NWYR INPT KA 92 27 2" AN M272 0PI RDT '0IN7 231 IN7 NYIDRA RYIN2T
120 12T IR 12131 IR ITART T2 OB 3"'Y mbach Ny PR AR W2 1 DR e mbah

STIRITY PR DWW TP 57 DO% 37O KD 1N '0INT 91272 Japh N

P23 PR WD RD1 N0 mua> Pwy SR |1
7°aR N°2Y
7723 WD RD1 N0 muad WY PR SR | 2
7°aR N°2Y
b (7ai>K valalgle) TIVY 199K SR RY | 3
7°aR N22Y mHvab
P23 PR WIDW PUYIn DOR KPR | 4
7°aR N°2Y

1) Twni of the X

2)

3)

a)

b)

X°wp as explained by o"awn and that X"wann discusses further below

1) Be vwd the x°y2°k from the &5°0 of the mawn that according to a"awn teaches
that where 7°aR n°2% ws the 17 is 17231 PR

The y17°n of the Xna isn’t relevant to this X"w9n

n"awn

1221 M2 PIWIYWI IR NP7 PAVY PRWI X107 ¥R 77 3700

X"wn — 72 of the X ma as understood by o"awA

a)
b)

c)

d)

it’s more 72anon that M72% 1wy are Pax 1°X than that that m%2% wy are Pax PR
it’s more 72non that 1221 Mm%2% 1wy are 1ax R than that that 172 X721 m%2% 1wy
are Pax Px

it’s more 72non that 192 mY2% vy PRY are 17231 1°X than that 192 891 m%a% prw are
1231 7R — we’ll explain below that even m»2% Pwy PRW can become 172

it follows that it’s more of a X121 to say that 192 X21 M22% Py PRW are 1723 PR
than to say that Y221 m>2% 1wy pPRY are 12231 PR

the X mx assumes that m°ax n°a% wn in line 4 is a stronger factor to say 1231 X
than jnm n7wo aw 2ax in line 1 that’s a weaker factor

as a result the xmx assumes further that since in line 1 where %5 (a weak factor
for Pax R) m72% pwyw are a1 X it follows that in line 4 where 7°28 n°2% was
(a strong factor for 1ax °X) the &9°0 teaches the xn1a1 that the 177 is 1231 1PX even



2)

9)

h)

for m»2% Pwy PR — whether they’re 1va and 172 X and even if they’re not end
and 172

P23 PR WD R91 N0 mua> Pwy SR |1
AR N2
77231 WD XYY N0 mua% WY PR SR | 2
AR N2
720 W'D X1 an0 TIVY 199K SR RY | 3
T°aR N22Y mvab
P23 PR WD PUYIN PR 199DR OOR R YR | 4
AR DY | A nbab pwy
W2 NOwD Pra
TYa Rbw P2
(Yoaws)

and since in line 4 M>2% MWy PR are %231 1°X whether 192 or 192 XS — it’s a 19w 93
that m»2% Mwy are 17231 X whether 192 or 192 R

the x7n3 also assumes that — because a8 n°2% ws is a stronger factor for 17231 X
than %ox —the 17 of 1251 X in line 4 (where ws and %58 X and all mn»ao are PR
1231 whether or not m»2% Pwy) is at the same level of X121 as the 127 of Pax1 X in
line 1 (where ano and %ox and only m%2% Pwy are 1231 1°X)

That’s why the X713 asks that — since in line 4 there is never a p%°n1 between 122
and 192 x% — it follows that in line 1 192 821 n172% Pwy should have the same 177 as
1721 M35 My and both should be 1231 PX

X" — R0 of "¥N ¥ M rm” in a"awn

a)

b)

read o"awn as if 2"awn had added the word Y»a»:

"MH21 MY WYL IR 92T MRS WY PRYD PN ¥ 1

n"aw means that the 723 could have answered that there’s no reason to assume
that the xo°0 in line 4 teaches the big wy7°n that m%2% wy PR are Pax pxin all
cases — when it’s possible that the x9°0 teaches only the smaller wh°n that nin%ao
aren’t Paxl if they’re not ¥2 because they’re 1721 M%2% »wy PR and 1w 5o if
they’re 1721 m»2% Pwy — but MN720 that aren’t 1°va and are 172 &> are a1 both for
mua% Py and mM%2% 1wy PRY — S0 in fact the o°0 doesn’t treat 1721 M2 Wy
the same as 172 X71 m?2°% 1wy

mooin at & n 17"7 refers to o"awn as having said "X 19227 °¥17n ¥n mMa" -
mMooIn also means >7”°X 19227 °¥1n% ¥ 717 both for n1%2% Pwy and M2 7wy PR

TR

i) What sort of m72 applies to n192% Pwy PR
mawn

1) ™D7w1IR17a81" @s mentioned by mooIn

3) Twnn of X"wnn



a) The 7%n of X"win answers a X'wp by 2"win on how the &9na can rely on the
Xo°0 that deals with 7°ar n°2% wnon to teach a 17 for the Xwen that deals with ano
and not with °ax n°2% waon

nni7a0 a"T nivoin 'a p'7n nNI720T X110

2"1B" AR DR RN D021 'R0 B oY a1 M1 9a2 WIBR 1PARa Bar 1> mnban 1''7a 'on
VYW JATH PRAMVPRRY VT PLIMT T2 AT PRPPARE 2190 NP PR PR 1T PR
2PNR WRW AW BORMY P21 PR 2T [OD 9D A0 2WPNRT 12T 21T MWD Ry B''oy
57D WMDY N7 PPRIRT MW TR RIOI RDT 30 2OWTDA MSDINT 2T 7T 009 'Y PUYm Mpn
UTS ROWP 7MWY 2'"awNDD TIER NOA2 72 WRANWNR DR U I9Y TRya noab any R\
NIRRT 1D 399972 DR MNP TR OINRTD 19217 IBR DARRY A PR NP2 PIRY INPT RNYN2aT
1927972 9197 IRD 2217 WINIDT IZTN MDD MW 1DIDR YRR RAND 1231 R 97 "1 19212 A0
SR YODRT PUDI WINIDY PR 1R MY Y PRT 1190 9D DR AR 9D 19IDRT RUN wnn
DID29% MW 1ITT PRNINNAT PPUFIN MITRY PUYIA PR MR PIRYT 3190 INWRI PaRR D nunp
T9IBRT 77 ROVIOIR KD PPNOINRT 212K DaR 192 K92 1397 772 72D 12 RODIIRT W 780 e w2
TOAR NY22 RN MY MDY P PRT 0D PAA A1 1D IN 1213 IR 17N ORT 11OI7 aa

PTITY RIVTY KD IS NMISOINT M7 AT 2w hank 2v12 2vaTm

1) nnTpa —avw on P and Puyin in the mawn that is discussed by moown and 71 *pIina

a) Unlike o"awn — 121 and 1vn in the X95°0 have nothing to do with what 75va is
7bla)

b) Instead

(1) 21 mnva0 are 17231 because they’re 7217 1% PP — for example *93
nos and 2771 °93 — and it’s 1anon that the wx will bring them to 7%va noa

(2) Poyia maLao aren’t 19231 because they’re not 72171 1% Pr»pnn — for
example nnwm 2ox8n — and it’s not 1anon that the nwx will bring them to
7ova nn

2) mooin
a) Nwp

i) The &nX "7 Xn>92 says that even 1 S n111p 'p aren’t 1231 because what’s
relevant is that they’re n22% Wy and it doesn’t matter that they’re 12171 — yet
the miwn says what’s relevant is whether the n1%20 are P21 or PoyA

b) v n

i) To make the xn»92 consistent with the 7w it must be that the mawn refers to
mua% WY 1R as 2177 and MYk Pwy as Poyvin

3) Twni of mooin as explained by R"wann

DORWI 1 77W2) 12 XOVR (192) 1V — MPAY PIwYA 10 PO 210
ROV KD (M2 PIWY PR IM17D) 121792 DaR — 192 K72 3207 71 (WD R
IDIWI N 1AW IR ITARY PAD 1722 17°0RT (WD K PIRwd 1 7w2) 17

AR N°22 WoRwD 0T DY M22% PIWY PRT 11D 1723 NI XYW



% xwark n"T

DR Do "3 MR RPY KD 7R NITD PaR "D 1T NN 1''7a

:np 7
"MNX 0101 A" TN ‘X 77N NTNINT XAI0

DREMA T2 IRWIW "5 WM N2 NNANIN N7 KD 7779591 "2 MR 0103 77172 [2 Ty mp 7]
TPTI2 ROR STIMIN DID1 KDWY A PIRTR MR AOIINIT AP 1920 wDH B! 5o "o nramn
DaR RN T PRIWI AWD 2A 7T B30I 777 AN 7RI FINYT NNANN IRDT 2D PRIV 2D KDY
TIPOTA DWHT WM I KDY W IR 7007 KD PRI 2w NI 011 197 AR 23 NNIMIN 00T aN
2" ATR N7 ARWIT 2"awnDh DaR 010 RDT ORTI NN IRIAT 19D A 231D 91 ORT
DY STRNAD IV NPT 70T KDY ODNI T NAINNN IRIH KDY IRTARS 7 2"URT NOIANIN NIRNMIT

1B TN IR INBR DN IR

1) First nnipn

a) Hvais Inwx wAr if she’s a IRW1 but not if she’s an 701X
2) Second mnTpi — 0"awn

a) ADyaisn’t IRWI MWK WA if 7wk vy na 0
3) X

591 P T12R 72MAR PR D101 X2 NPINMIN NWRY 19 1MRY TR QTR WY
higlal Irminbis i inl

no3Y] [ApTI2% PINR 0191 PRYT 2" AW NONAY] WY IR N1 001 1N
[[P712% X9R IR D101 K71 2°R17 — ON AN

4) now of o"awn as explained by X"wAnn

a) The case involves an axwi 7wk whom %va wasn’t w2 because mwax? vy 72 11 if
she was a n°1mn — and in fact he found that she was a n>3ann — note that if he
had found that she wasn’t a n°23mn he would have been o>°5n1 and he’d no longer
have been mw"a? nyTa

5) mww of [an 1°27] 2p¥° 1020 as explained by X"wann

a) The case involves an 7017x and 5va found that she wasn’t a n°3amn — he would
have been wn1 the nwx if besides his purpose to be 137712 he had the additional
purpose to be kw1 the nwx if he finds that she’s not a n°1mn

NI "% TN nisoIn "a p'7n nMNINT XA

192 ROORT 1D B0 7% 1R a7 0" wRDRT IRADY 712900 Ny BN 7N nywn "1 0" 7''Ra
TDR ROVP 7o) 71901 NP BRI 772900 YW M7 RO ANt neRT vy D' B''ay "o
NYwR w'MH J329% @' P2 RDONRT WM 72000 DYwR B9 701 nywn 3" mRPY ant v
TRT "% 927 999 P92 DRI 11290 799 RN DYWH 11997 712000 NYRR 3209 wan 1A
TR PRY 77277 'OINT 9272 AT DWW STRWAAD NYTT 23 5P AR 72300 DYRwHn M0 PRI

e
1) o



a) RIAR M

1) 737 ' says vAT NN NYWH MO HYab PR — presumably because vy 72 303
WY as in o"awn now

il) wopH W says vt NN NYWR M H¥aY PR
b) xipon after T1oK
i) 7 " holds van nPna nYwn Mo S¥2a% PR

i) wp? v holds at 72°n> nywn M0 5v2% PR — "n2°n2 nywn" for ynw " means
win 72°n2 nywn but 13295 1597 that "72°n5 nywa" actually means mnonn nywn

2) Twnn of mooin

a) 7 " in the Xy min would support o"awA that %va loses his right to »vo if vy
i7mby,

b) But for the Xipon there’s no X1 to o"awn from either a1 " or from wopH W
according to 1121

T 971
DNNAYAI MNXAY AT n"awn

N7 12 K973 KDY 1D 2w WNDRT NORY 10 an[2awm R 17172 2" awnna [R TRy map 7]
AN ANNIY 20N RY ANV D WONTT INA RIT PIRTY WM 95 "D 9n1n j0awn v ann
VAST 7% YRWAT D' RIPDND MWADAT NOR I8 2P0 WY 70w 2''RY RIT RIPT RN PIORT
RY 91 2NNYT RN 12997 QNI 90 wONTT IN2 1" RN 12957 2NN 10 wINTT INRDT
R RIPT TTIRT 190 RIMN0 7010 WINT NI R? 2NN 2002 707 190K MRPT ROR 2nsnD U

B

1) mnpn
IN5MI DR AN N2 17 PR ORI 122 NP0 DR N7V 17 PR 121 NIRY 0D WOR
1IRY

2) X

M1 27 — 2NNV 22057 R1T ' — 77N 0 XTI VIR 2000 NInn? PIn
X177 RIPT PATIRT NPA 1R 2NN RIT Y — NPT 2NN 20007

3) ao"awn

a) First quw — &1 "1 relies on the mn° of annaym the same as mm1 21 relies on the
0> of ann

b) waon7 nR nvw — &1 " relies on the use by the oo of annavm instead of annn
C) o"awn disagrees with *w9on7 nOX: "R°A0 7TNIR NP JAWH N1 2NN KT

4) X"wan
a) TP

10



i) 77R2% — 0"awn disagrees with *waon7 noX because it can’t be that X7°1 "1 says
the first ,oo could have used annn in place of ana2ym — since if the oo did
say annn instead of annaym that annn would have been anr»

b) xwp

1) But annn wouldn’t have been an1» for 871 '3 since &7°1 ' holds that it’s
X7 "I to say ann — SO why doesn’t 2"awA accept the 7w w of *waonT n°KR

C) y™n

i) o"awn disagrees with *w19n7 n°R because o"awn prefers a vws in X7°1 ' that’s
based on the 105 using annaym instead of saying neither anaaym nor annn

yan 2Dy nannY i a"T1n

STIN DS TINRT 1APR SO0 NN 9D TAMI 27 RITT D 7N 1 XOTR "W nanna® i 7''ra 'on
YRR N0 322972 2R NINKR JANI 27 MR X2 MRPT LW 200077 DO PR 1 Boy "D
1773 "R N2 R 1APD @'RAT N0 DaAR DIWDTR 09D 7903 PANI 207 R RanT K17 RURIPT

25'mY 979 KD 1N 'DINT RO DA T IR YINY "D

TNR T
AIN YUY 1IN A" TN 'R 770 21N YUY DINNT X110

1D 1% DN RY MR 2250 DA 1D DY 02N RPIT YRR N0 0w 0m 1''7a [2 Ty map 0T
NDWRT ROR 77owab 9;1mnan 32 07 M0nh 9230 XY 219N 22397 907 an7 11NN 1 RITTa 0oy
1D BYa a3 RPITT KPR MWPTY 1DTNNT 7TRWMY MANAT RIDT PRT RDT INPD X0DR 77 RRPIND

J9'™Y M7 RIDT PIRTT 20 2N TR 1R RIT

TYADRD OMIN MYOR 7 Y102
1) mnpn
DI M9 121 19 M APRY 20 0w 00T N
2) o"awn
a) For >R " who is "n1x7 R1°7 1°X7 the 121 must be %07 the ni1» for his 7097
3) nmoon —auw of "

a) If the now required the m> ultimately to pay 100 to the m%» and the n1% paid 10
for the quw — then for 2°&n " the 101 needs to pay 10 to the np12 based on X197
"n737 — not 100

4) o p"
a) First xn»2

i) "Mwd onRa 77anw TwRn — because she has no money of her own to pay to the
Pl

b) xm

11



c)

i) Assume that the nwx has a 210> that would pay her 100 11 if she is nwan1 or
m12xn1 and that the 7R3 n2w value of the 720> is 10 while the nwx is nrn
mova

i) xwp

(1) Why don’t we demand that the o>anxa f%anw nwx sell her 72103 to a np°
for its nx17 n2w value of 10 and pay the 10 to the pra

i) yrn
(1) By doing so we’d be 70097 the n17 because we expect that the nwx would
afterwards be 5mn the 217 of Hva to pay the 721>
Second &n»12

i) 7N2ND 77°097 K APYAa 77ANw RO

d) X

1) xwp

(1) Why don’t we tell her to sell the 72105 to va for the 10 nx17 n2w and to
pay the 10 to Sva — after all she won’t be 7097 the Hva if she’s Pmin his 2
to pay her 21>

i) v

(1) The &n>>1a follows 2°kn 'Y who says avw 12998 INWR IR RTWOW D7R? 70K
7215 X922 NR

5) Twni of moon as explained by R"wann

a)

b)

We established in the first xn>n2 that we don’t tell the 7wy to sell the 72305 for 10
to a n7» because the nwx would be 7051 the np1» when the nwx is later mn the
72105 to benefit Sva

TR

1) if —contrary to the mv>w of >3 — 7°Kkn " Who IS 1737 17 PRT requires the 7om
to pay to the 1> the entire 100 potential value of the “uw —1%°nn by the nwx
wouldn’t be 72097 the >

ii) does this prove that the nu>w of "1 is correct and the 7wk would be 7097 the
n1? by 72°m because *na7 &7 would only require the wx to pay 10 to the
o

mawn

1) This is no "X because there’s no proof that the first xn»92 follows ~xn ' —
and it’s only °R» "y Who is °n737 X217 X7 in the first place

i) But the second xn»"2isa X1 to *" nvw — because we’ve established that
this &n>>12 needs to follow 7°&» " anyway to take advantage of his v w that
91 07X 12 MOR — and it’s yawn from the second &n>9a that — if the 7wx were
to be 221m someone other than 5ya — the nwx would be 7091 the np12 by 7%°nn
because °n1x7 X1>7 would only require the nwx to pay 10 to the np?
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AINXN OXI T'N2 2 270 21N YVY DINNT X'AI0

2012 'DIN2 23 1NIEPW MR B2 7' B oY 1D TN RNA TR a0 anToR ' n'RY 7''Ra
RIDTY KDY DIPBTR 20172 KU 12 1D 2901 DORY TN '0INT PWBR MKRD aRY prn D' wanm
SN PRSP QTP IR TOSIT 9D IR 9IMER 1D N'RY anRIpY 30 ARI RPT RPO0D RO
DM WVITT VYW P7 72 N1 ROW 23 DY AR NymIpY T0DaR TR 05T MMNAT RIT PR IR
TIATY TOAL PRW O WA 1AAY 77U 01T 7Y T0vad 2T MANY IN WNANN AR NI
APYRITY IOV 7251 ROWA 1onD PROY 2T M RIT TOT DM NI W 12 IR 7 ROR Y
BRWTTT RITT ORY POV IR 1D 779 1IN TOW 77277 NIMPRIT 70D TRNA2 1ApD 197 122
NN 7 P {3TR) (1) 2PWD 2970 KDY MANAT RIDTH 2NN IN TWAANIR 2T TRrab TonnT 1190
DORAP FION RNRSTY 9 NI 57 90D PO TIR INT RY TOMRR YA RI7T 2''NIN TWAAN 2R 0N 7o
(®°0%) IND2 7R PR RDWTT N0 7R RPWT V'Y WARY MR PION 0D 159237 "o 2" R

B DIWBTR

1) First nnipn

a) to this point we’ve dealt with o°199% where the np1% paid 10 and at the time of
m2°nn the wow is still worth only 10

b) n%xw - for >"1 nww according to 7 &» " does the 121 need to pay 10 or 100 to the
n1? where the n17 paid 10 and the value of the quw at 7%°nn nyw has risen to 100

c) mawn of "wnnn — the 751 pays only 10 because this is the actual out-of- pocket
70977 of the mmp»

d) mawn of X"wann — the 101 pays the value (100 in our case) the mymp> would have
realized at the time of the 7%°mn if there were no 7%°n»- and it's a 10w 5 that the
101 pays 100 if the mmiph paid 100 and at the time of 7%°nn that qvw is still worth
100 — an example is a 72105 that an awa awR sells to mmps

2) mooin refers to this X°x10 in Mo at 1o A7

a) mn1 277 "na»1p sold her n21no to mmp for 10 before she was 7waan1 and later
died — once she was nwaani1 the 72105 was worth 100 — n12 was oR °0231 nwY —
mmp? claimed that the 721> was theirs because they had bought it from ox

b) mm1 21 said that since ax after she sold the 7712105 could have been % the 72105 in
favor of Hva — n1a inherited this right and could also be min the 72105 in favor of
IR

3) H"wann and X"wann disagree on the qwnn of mooin that’s “xan the ®°x10 in M2

4) Twnn of mooin according to Y"wann who says that °"1 holds that 2°&» ' says the 2min
pays only the 10 actually paid by mmp»

a) Ko7 of MooIn — "IN AWIIA AW 1270 onTo97 2pn 2am" — meaning that if nnais
5min the 72105 she’d have to pay to the mmpY only 10 so that "oypn %on" (meaning
despite >na7 &1°7) there would be a large 90 70517 to the mmp>— this explains why
n1a would want to be Smi the 72103 even though we’re "n737 R1T PRT

b) And 778 this is a xny»o to "1 that even 7°x» " doesn’t require n12 to pay 100
to mmp? for her 7% m even where the 7%°nn happens after pwi°x when the 72103
is already worth 100
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5)

6)

7)

c) But ™27 9" that this X9na isn’t a "»89 to *" nv*w and in fact according to "™
7°&n the Smn must pay 100 even where the 172103 is still worth 10 — and still n92
and ya gain by the 17%°nn because the X3 deals with a n12 who is a mavp and
mmpP? can’t be 721 anything at all from n1a

d) Note that —although the x°x10 isn’t a "X t0 *"9 — the X210 isn’t a X*wp to °") nwWw
as understood by >"wann and there’s no need to say that the case involves a mvp

Twnn of mooIn according to X"wann who says that °"1 holds that 2°&n ' says the 5min
pays the 100 value of the 721n> at the time of 7% mn

@) ROT IN MDOIN "N AW W 7277 aNT°000 1" RN 2Ry — meaning the X0
is a X>wp to *"1 — since for > as understood by X"w1n the S must pay the
mmpP> the 100 value of the 72103 at the time of 7%°m so that mmpH recover their
full 7297 70977 — and n12 and v2 would gain nothing if n12 is nomn the 7205

b) and mooin answers that the X210 isn’t a X*wp to > because n92 is a mavp and n1a
and Sva gain because the mmp> can’t be 21 anything at all from n92

Twni of R"wann
a) Nwp to the qvw of X"wmn

i) In'x pon of this x*x10 we established that a 217 qvw %mn needs to pay the mmp>
only the 10 they paid
b) v n
i) The vw there is worth only 10 at the time of the 71%°n because the mmp© still
needed to be 72 the v
Tqwnan of X"wann

a) X7mxand the xwp of mvon that is considered in detail in 'a p%r7 and '7 p%n of this
x>0

i) X3 0N RY°¥NM K22 — HYa% I 70 WKW 112 — 721037 120 R¥N
(1) xwp

(a) why aren’t we wwn that the 22w was written and dated in j0°1 — in 11°0
before the nwx was nwaan1 and Sva paid her 72105 the 7wk sold her
72105 for 10 because 10 was the nx37 n2w value of the 72105 before
Pwa — it was only afterwards in »wn that the nwx was wnani and the
720> was paid and the 12w was delivered

(b) so that if we now return to Hva the 12w that has a j0°1 date it will
wrongly appear that the 12103 had been paid before the mmp% bought
the 72105 and that the 72105 had no value when it was bought by the
mmpY — and by this wrong impression we’ll be "7>7un" the mmp» by
being 70571 them 173 Xow

(2) yrn by a1

(@) the mwx won’t be 172 X>w mmpo»n 97w by returning the 12w because
the nwx anyway has the right to be Sm the 72103 in favor of Hva
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i) moon
(1) xwp
(a) Even for >"1 nv>w we have this X°wp to 82

(i) Why aren’t we wwin that the 7wy was already a w73 when she
sold her 721> and the mmip% paid 100 for the full value of the
7215

(i) So that for =°x»n " who is *»737 81°7 1R7 she has no real option of
making a 77°m since she’d then have to pay 100 to the mmp? —
and it follows that by being = the 123w we might cause her to be
772 RoW mmphn a7

b) Here moon follows the v w that X"wnn established earlier that it’s a 9athat for
7°Xn "1 according to °"1 the 1211 needs to pay 100 where mmp paid 100 and the
Tww is still worth 100 at 7% m nyw

8) Twnn of X"wn
a) Nwp

i) In'x pon of this x°>»10 we also established for "a%2nw nwx" that she need pay
only 10 if she’s Pmn her 721> — and it’s because she needs to pay only 10 that
we’re wwn that she’ll be 203 S

b) v

i) We’re wwin that she’ll be 2min her 72103 before she’s nwani at a time when
the 720> still has only a 10 nx17 naw value

"7 v 1Iami TUNA A P70 21N Y0Y DINNT XI0

DD 929 712 NI 1R DY 1 TR TS ROW MIMPD mINw 2R Don YR e wnY 7''Na
TITD TN RO JOVID INOI MW AR 2X ORTIT MY AR DOV "D 7D v N2727 ' MINY
TWYN RY 2172 702 DR DA Rra oy RNER INwYR PRIN UKW KUK 770 1N e nmpbe
RO1IP TARDR 9O 1R RDT 1190 30 AT PR DaR 79 1N 7 Y 1 N 9o 119
MINDT B2% AR OYISW 1190 212 Towa DImAn R DaITT RO BOpS Ml 1R wwpn by oy

TP'ITY ROINP STOMNA TOWT YRR RYOZAT P52 w''RTT 9272 2 IR MW 7 nmphh

1) 7n7Pa — XA in Ryoxn 823 at v A7
a) 2yab er 37N OWRIY 1A72 72107 12w R¥)
b) xwp

i) why aren’t we w1 that the n2w was written and dated in 10°1 — In 10 before
the nwx was nwani and %v2 paid her 72105 the wx sold her 2105 for 10
because 10 was the 1x17 naw value of the 72105 before pwrs — it was only
afterwards in »7wn that the fwx was nwan: and the 72103 was paid and the
"2 was delivered

ii) so that if we now give %va the 12w that has a j0°1 date it will wrongly appear
that the 72105 had been paid before the mymp? bought the 72103 and that the
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2)

3)

72102 had no value when it was bought by the mmp% — and by this wrong
impression we’ll be "7 aun" the mmpY by being 7°0on them 1970 Xbw

C) Y1°n by X2

i) the qwx won’t be 172 XPw mmp?n 7w since because the nwx anyway has the
full right to be %mn the 72105 in favor of 5ya

Twnn of mpoin
a) Assume that the x>0 applies also for 7°&» "y who is "n737 K17 1PRT
b) Now

1) If we were to hold against the v w of > that 7wk would for =°x» "3 have to
pay 100 to the mmp® for the 70971 caused by her 7%°ma even if the actual 7057
is only 10 — then since 1%°nm would cost her 100 — practically she can’t make a
2 ma — it would follow that by being P97 the 121w the wx would be a7
from mmp% what she couldn’t take from them by 7%

i) So it must be that the 7v°w of > is correct — that if she’s 2mn she’s not
responsible to pay back 100

iii) Note by the way that this proof applies for x"w-nn as well as for 5"wann —
because the point of the x°x10 is that the nwx could have been nomn the 7205
as soon as mmp- bought the 72102 before she was 7waan1 when the 72103 still
had only a X317 n2w value of 10

c) Nwp

i) But even for >"1 nv>w the 7wk won’t be n>mn because then she’d need to pay

10 while if she’s p>on the 121w she pays nothing
d) y»n
i) The 10-rr amount is small

i) And we can accept that she could practically be 5mn the 72102 despite this
small 70577

X"
a) Nwp

i) The nwx will have to pay back 10 anyway for having sold to mmp% a 72103
that was already paid — so why does mooin in its X°wp assume that by being
P o1 the 2w the swx will be 19n by not having to repay even the 10 that the
mmp? paid

b) v n

i) The nwx will be 7 by being p°on the 22w because we’re wwin that Hva is
entering into the following x°11p with the nwx: of the 100 that >ya would
otherwise have to pay to mmp> on the 721> he gives the 7wx 10 to pay back
the mmp> for having sold to them a 210> that appears to be already paid and
5, for example, as a profit, and he keeps 85
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c)

d)

i) While if she’s 2min the 72105 she would be 7097 the 10 — but see the next xwp
WP

i) Why don’t we assume that for her 7%°’m she’d also make the same x°11p with
5y to cover the 10 and give her a profit

possible y17°n
i) for some reason we’re not wwn for a X°11p on 7%>°mn
Xowp

i) It must be that we’re w>>n for x°1n1p also on 7%9°m because otherwise — in the
X°210 in 20 pao mentioned earlier in this X°0 — why are we v n1 that the qwx
would be mmp% 1097 by being 2rmn her 72303 if this would cost the nwx 10

ii) Besides — from w"&" in X¥*¥n X212 it also appears that there is a x°111p wwn for
N

INXRN OXI TN T 770 21N 20YW DINAT XA

a)
b)

c)

a)

" H'"op 10 IRW Y NSNS oYM "D 10032 3000 7N RIADT WA 10 N7 R N''RY 7''Ra
"D9Y JIRTT FTOYAR N2IND 10 N0 MWAD 101 12 MR hYa IR RN 'Y uw ahyab
RO anPRIPY 2R PR 0D MDDINT WA 07 wmnh ROV wnnsaT 22T p''oa wrew an
INZ2D RNIM2 IR JMPIRT ROR 957 WD RN M RwINA2T PH 1200w 1 Y anvuwip ban
P'TY I YA IN2IND SN0 RAWN TN NOR IR K27 WWPT 77T ODDY MANAT RIIT PRT RO

1) 'x mnapa — refer again to the &1 X9pw of 121w R¥»H in Ry*¥n K22 at v a7

SYa% P AT AWKRAY 112 721097 120 RYND
Xwp

i) why aren’t we wwn that the 12w was written and dated in j0°1 — in 110 before
the nwx was nwani and %v2 paid her 72105 the awx sold her 12105 for 10
because 10 was the &1 n2w value of the 720> before w1 — it was only
afterwards in »7wn that the fmwx was nwnan1 and the 72103 was paid and the
72w was delivered

ii) so that if we now return to vya the 12w that has a j0°1 date it will wrongly
appear that the 72115 had been paid before the mmp% bought the 712105 and that
the 712303 had no value when it was bought by the mmp% — and by this wrong
impression we’ll be "mmiphn pvn" to be 0o the 1735 XOw Mmps

T17°n by K29

i) the 7wX won’t be 172 Xow mmpon 7w by returning the "2w because the wx
anyway has the full right to be S the 772305 in favor of Hva

2) 'ann7pn refer again to mooin mentioned earlier

Assume that the x°x10 also applies for =°x» "y Who is 1737 R17 1PRT

b) Now
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3)

4)

5)

i) If we were to hold against the v w of > that 7wk would for =°x» "3 have to
pay 100 to the mmp® for the 70971 caused by her 7%°ma even if the actual 7057
is only 10 — then since 1%°nn would cost her 100 practically she can’t make a
2 ma — it would follow that by being p>on the 12w the wx would be 77
from mmp% what she couldn’t take from them by 7% mn

ii) So it must be that the v w of >"1 is correct — that if she’s 2 she’s not
responsible to pay back 100

Twnn of mpoIn
a) Nwp
i) Even for "5 nvw we have this x*wp to &2

(1) Why aren’t we ww1n that by 11°0 she was already a mw1na and the mmip?
paid 100

(2) So that for 2°&n "y who is *n737 X217 1R7 she has no real option of making a
m2°ma since she’d then have to pay 100 to the mmp> — and it follows that
by being =1 the 121w we might cause her to be 175 X5w mimiphn a1

b) y1n of mooin here

1) the x7mx at Xy ¥n 822 doesn’t follow 7 K&n " and isn’t *»737 81°7 PRT — it follows
that the nwx wouldn’t have to pay mmp? anything if she were 5min

il) but note that this yv7°n would cause the X773 not to be a “&~ to *"1 nvw
c) ynof mooin in Xyoxn X212

1) we’re not w>n that she sold her 72105 for 100 when she was already a 7w
and that she will claim that the 210> had already been paid in j0°1

ii) because — if she’s p>on the 72w she’d have to reimburse the mmp> 100 for
having sold them for 100 a n121n> that was already paid and no x°1p could
protect the nwx — since the Hva would have to give her the entire 100 just to
make her whole — and if he does give her 100 there is no gain to him from the
X°11p nor is there any benefit to the 7wy

Twnn of mooin as explained by X"wAn
a) Nwp

i) In the case of 121w x¥n why aren’t we w1 that the nwx couldn’t be 2min the
721> because before she sold the 72105 to mmip% she was already w-an1 from
WX Hva and nRwe1 to "aw Hva who was 1911 to her 721n3-rights against Hva
WRY — and 7wX was never in a position to use 72°nn to take away the rights of
the mmpY to her 72105

X"wAnn

a) This xwp doesn’t apply to the y17°n by msoIn in Ry*¥n X232 to the previous Xwp
because for that y17°n we’re not wwn that nwx might have sold her 72105 after she
was already a 7w
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NnNp 71
IN7 X'wark 2" NI In? xyarx a1 n"awn 'K 270 79T [T X210

5'"op 1D IR M ORI TAR TRY DT N1 AR "2 1R RWAR 77''72 2"awnna [R T map 07
RD7 TRIRD RUTY TARD D02 923 JAPDTS YD 21PN MARYD W RDT RUOIWDT 0 ynawn Ton RhaT
79 RIOI KD RDT TR RUMTT DA 2R v AR KUK AN7T 79 RO KDY 2190 1RYY a1 v
RY D77 10w aRY DpT Dyab mann Rty ORTIT 07 hyab 2ipn R ar v ROpacT wnnh
9790 2PN WP W AR 7TOH RO THRID D WADM IR VW KD M N5 Hyah muph vw
WIR TAY ORI D 2IPR MIPH W A1 MRD MBI TNIWS D MR W 30 AR W MY Jnws
23 IAPY TP WADKRR 1D Y RIWAR 1DV PIPIT TUONT WaMWD PIYDT RO M1 Wb 2" MmN
T OR RUTR DD PWR P2 295wa IRP INART 9DV WY RO 7D RITOIT ROR 1IN 1Ry W
R77 9T TAY AR PIYY 5D KD 2''UT MRYY W vax 3P0 2R RY IN TRV AR 710 IR
N7 2''AR 2''R 7% ROpan T9RIaT 0T PIRTY WO 2901V IR 9D 7o) mIyh nen v 2oy
ToRI2 RITT 9D 2IPR W AR NI MIYH W2 2 700 ROV KRR IR N0 21K IRRYD 1w
D073 959Y 9D QIR MIYY W RDT 2''ARD MRP 7''ORY RAPIWH NINIDT MIPY wn 107 0l
b7 3012 RIPODR ROWamD 2T T 00D AT OB ROYARP RTINY RIS 2WAT RN PN PINT

TP'IYTY AT 1ININISR P 9D 2P R RDT AR 11D 1YY R TRRY

1) First nnTpn
a) NN TAY OR — W KDY PDIIY 2NOW YN 00
b) N IeR TAY OR — 9 1°0217 2N0W YN 00
2) Second TP 7901

a) If a yon 200w gives certain o°021 to WA but is 7w other o°021 — and the ¥y 200w
is later 7911 and gives the °021 X to “aw — then

i) for pwxn there was a 71w since when 1wy received his mann the mann to 1w
hadn’t yet been made — but for *1v there was no v

ii) and it follows that if the ¥ 220w is 72 he can’t be 21 n from nwa but can be
i from "

3) Third mn7pn — 7201 8

a) Ifa vy n 220w gives certain 0°021 to Pwxn and later gives 2°031 Ixw to 1w — and the
¥In 20w wasn’t 7711 between the mann to 1w and the 7ann to »1w — there is no
Tvw for nwra or for »aw - and it follows that if the yan 2°0w is 727w he can be 21
from both 1w~ and "w

4) Fourth mnpn

a) Ifa"owm sells a n"a to one person and at the same time sells the xv7 to a second
person — there is an X°v2°x whether the 121 gives 1 nR¥Y7 0pn to the noa ap or
to the xvv7 7P — but it’s a MW w»o that the 7101 doesn’t leave 111 NRXYT D17 for
himself

5) R —two nYaR
a) w9 of the first X°y2oX - "R? W 770 DIPR MW M ¥ NRD 1M TIR? 9p7"
b) 1wY of the second X°¥2°X - "7 MDA I W 17 XY NRY 017 xnon ox"
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6) 2o"awn on the first X°y2°x as explained by X"w-mn

7)

8)

9)

a)

b)

The first x°v2°} involves a van 225w who first said wx1% %27 and intended to be
*n 9w for himself but then was 971 and gave w5 »Ymad

The vk is which 7x is correct
i) First 7% — the ym1 was 9 opn 7»w to himself when he gave the 57 to 1w
i) Second 7 — the 1011 wasn’t >0 opn 7w to himself

R"wAnn

a)
b)

We’ll establish later in this 212°7 that %P7 nann is the mann P>y relative to »°d ninn

It follows that if the first 7¢ is correct that the 1m1 was >3° opn 9»wn when the
1M1 gave the Hp7 to PwRA it’s a M ws that the 1011 was also > opn P wn
afterwards when he gave the m7°s to "1 — so that the 1m1 can be nn from neither
TWRI nor “1w

It follows also that if '2 7% is correct that when the 1m1 gave 77 to pwin he also
gave him >3 oypn — the 1011 can’t be 71 from MW because when nwxa took his
7inna the i was still 909 9w but the 11 can be ann from 1w because when aw
took his mann there was no remaining 2w

Twni of R"wann

a)

b)

d)

Xowp

i) Why doesn’t o"aw" say that the x°y2°x applies where 791 X7 and the 1011 at the
same time gave Nwx1? 9p7 and "1wh Md

'aRb

i) the same as for n°2 and &v1*7 where it’s a mu>w» that the 121 doesn’t leave
71T NRYYT 0Ip» for himself if he’s 301 the n°a and xv1T at the same time — if
the 1M1 gave away the 57 and the m7°o at the same time it’s a mww» that the
1M1 didn’t leave »o oipn for himself

Rowp

i) If the case here is similar to n°a and &v1*7 — why don’t we say the X°v2°k here is
which 9apn gets the *7° opn — the same as the x°va°x there is which 2pn gets
TTT DRI 2PN

v°n

i) 9p7 counts as T2y relative to mo so if the 1ma was >wn the »1°o pn to
himself when the 111 gave the 5p7 to Wi it’s a muwws that he was oipn »wn
%5 to himself also when he later gave ma» to "

qwnn of R"wann

a)

prlak vl
i) Return to the second x°ya°x
(1) ¥ vPRon P Y 10 KD RDT 02 ¥R OR
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(2) For o"awn this means that 2117 *x»°n ox that '2 73 of 'R X°v2°X is correct that
in a case of 79n1 the 1M1 gave >’ opn to PwRA (the P77 ¥2) and wasn’t
%0 oypn 1w for himself before the 1011 was 721 and gave m7°o to 1w —
then consider 'a X°*v2°} where the 1011 said »ma°o2 yin and there was only a
7ann to the wxa who took the 7 and the 1011 was m17°9 9»wn — who owns
D DIPN

b) xwp

i) But for "2 x°va°x we accept that in '& X°v2°k — at the point when the 1m1 gave
his mann to 9p70 ¥2 and there was as yet no mann to *aw — the 11 gave opn
"0 t0 WK

C) y™n

i) This is no &>wp for our X073 in the X713 that the 01 said " mvon yan' and the
X°¥2K is whether the strong 1w of "yan" implies that the 011 was 2w also
D DN

d) xwp

i) Then the first x°va>x and the second ought to deal with where there’s only
a mann of Hp7 and the second x°va°x should differ from the first only in that the
1011 used the word v in the second

10) wni of "aw" - another vI5 on "2 XY

a) The second x°v2°x where the 1011 never made a mann of »5 to *1w can’t deal with
van 200w and whether if 2117 71y because it’s a mw w»s that 217 1°X 72 because of
the 71w of »9n

b) It follows that - although the first &>v2°x deals with ¥y 20w and the effect on 71y
T of 71w of »1°5 mpin — the second &>k deals with x°12 and asks simply
whether besides retaining »°s the jn1 also retains *3°5 oy — namely o°01y —this is
significant only in determining if 3m1 can be 001y y¥12 when the 5p7 is wa»ni

11) qwni of ®"wann
a) Nwp

1) Why doesn’t 0"2w" say that the first &°v2°x also deals with &2 and the
question is whether the 25w can cut down the o1y once the 57 is wa»n

b) v n

i) The x°va°x appears after a mawn that deals with ann 72y for a yan 20w and
that’s why o"awn prefers wherever possible to say that the x°va°x deals with
deciding for yan 2°5w whether if ann Ty ox

Xk 2" "2 P n 7pT INT X0

DYDY NI N7 ORI MY N0 RY RO AV MR 27 NP OxK X970 mRw 2w 1''7a 'on
THED "D WA DIRYT MRPT R TVIPY 7ANR "2 A owa RUTR PO RNWT 1190 "D uvn e
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SRTY AN D oY 12 9D 2PN R 1 11D Y PRI IRIRT DD 101 9T T "0 1R ROWaR 1" T2
NI WT D UH PR D 2P DAR YRR ORT 2" 19mD RIIRT KUK T9INT DD JN12 YR )
J9'my B abwT MBI ROT M IR 9D

:nnp 71
NYUY 11 X a1 0"awn

2995 KDY AR KD 777 1922 9190 70 20pD RRTD "D nww 2R 772 2 awnea [2 Ty nap 7]
11959 N2 N7 1IN ARPT A1 R RITT INSD 11D 179D 7Y W 1 RIVTO KD 'OV 1D 11N RT 7Y
QWS W "3 TN DY T N2 13N MR TV DY J1MRKRTS D'aBWT TIT 2R 970 1T RY

RrA o)

0N Q7
NTINY YN 2DY 2" TN ‘X 770 2TIAY yan 2ADYUT X2AI0

T PIRW 12 PRI UK 9D DY AR "1 9195 AR "2 AT 2w 1772 neIn [R TRy vap 7]
AR PIAWTS RPR'T RPIRT RNDITY IR RITIT PIRT? 20 2''0p 10 "W NIN®2 NPT JRR N
baR Poawh RHR 702 TOW KRDT RO R 2190 1792 1% PRW PRITT UR2 RPIT2 NI AN )0
5 7AY2 AN NRa KPR PUAwS RO TR RPT NN 30 DARR KD "D PRIMR UKW D'YRT R

25" PN 7T9NIR T2 RDN 1D MR PIawh ROW KDT 1IN N7 NO

1) X in pa7mI0 at :wd A7

DIRT PWI 12 A1 ROXIT2 R2I7D 9370 K7 — X°I997 Myn 270w 7700 ¥ 200
QOINR YW VAT 1Y 0 2R a0 170 1912 DR Yawnh Xow Wy

2) X ma here
a) A AT YR 20w 117 ROV
b) ynw &n
i) X217 owed a 211 to X113 MO°R who was a yn 200w

ii) "nX 277 12 XpoK 27 advised MoK that to transfer the 211 to " 27 — MoK 75"
"RNPTING IR0 7201 2 277 N7 7T

iii) mo°x followed this suggestion and the 21 was transferred
3) o"awn
a) The xvax of the &3 is whether the yan 220w spoke only 112 nx y2awn®h Xow
b) xwp —the X713 in 7710 establishes that 112 R ¥°2wn Xow WY IR
c) The yyvn of 0"awn isn’t relevant here
4) mooin
a) "1 holds that the 7v°w of o"aw is 779 from the X33 in 197710
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5)

b)

d)

Instead >" says that xn>7x is a form of 1’1 that applies to any person who is 77
that he owes money *1195% - "% PRW 12 DopTmn URY 0 Yy AxR" and it’s clear that the
1M1 actually meant to give a iinn instead of to make a typical ax™7

The %°¥2°X is whether an Xn>7% by a ¥7n 2°5w counts as a ¥yn 2°5w nann from
which a former ya»n 25w can be 9117 if he’s 191 T2Iv — or counts as a 8’12 nann
from which the former ¥ n 295w can’t be 10

the X3 is vwId the Xva°x from 1o rk whose ax717 while a ¥yan 295w must have
counted as a &2 ninn because a 73 can’t give a ¥ %W NNy

R"wAnn

a)

b)

d)

Xowp

1) The xwp from 77710 applies also to *"1 — why don’t we say that the ¥ 220w
acted only 1°12 X ¥°2w7 ROV

'aRls!

i) The pip applies only if we’re Pprmin that 2192 172 X — and in that case it can’t
be that the ¥ n 2°5w intends only to make people think the a’»n* won’t be
wealthy — because people know that in truth the ¥a» 2°2w owes no money and
the 1m0 will in fact be wealthy

Xowp

i) " says the xv2ex applies "7 PRw 12 2°p1mn 1KY 90 B AR" — this suggests it
certainly applies where it’s not 1% 1Xw 12 PP and it’s possible that the 2°0w
yn acted only 112 nX yawnh Xow

v°n

i) °n1°37 PR — the reason we don’t say ¥°2wn> X%w has nothing to do with prmmn
17 TRW 12

if) Instead the reason is that
(1) 112 nx yawnh ®Hw "y o7R applies only where the 1011 died

(2) But here the former ¥ 2°5w who was v%m» 7219 now stands before us and
demands to be nn because his 7ann was a ¥ 2°5w ninn — not because he
spoke only 12 nR y2awnh Xow

ynwn D1 TN 2 P70 2TIAY yan 2ADWYUT X1AI0

UTD URWR ORM RIVTY KD D''OY "1 RNOTIND WY 23PY "2 07 wnT 1D TInn pawn 39 7''Na
073 1T RDT AMNOD DI NN WNADBY TN PWRWD TINR BY RO TINR 3N wTEd R
THW KD 2"awns7 200 awn 1''N0aR IR U MPRART RN RARWTT YIRS nBR PnyRwa
RNATIDT IR DT 2R WIINAPDY 2073 1TT 1O 11D PPTP 23R ORI 17172 '0wN2 JapD Ban Ip e

'Ry 2" awnanb avoon '

1) We mentioned earlier this X073 in our 2>750

RNPTIR 172039791 177203 9 277 117 7957 10K M0

2) mooin
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a) 281 127 has this xona:
RNPTIRD 172 391 P72 991 277 2O 13T 0K TR
b) The xo7x of X1 11021 supports the mwsw of > that Xn 7R is a 13p in its own right
3) X"wann
a) Xowp

i)  Why is the xo7x of 1" more proof to >" than the &0 in our X3 — after all
both mxo73 speak of a 1ap

b) yn

i) Must be that the o= of mooIn in our X3 didn’t include "0,
c) Nwp

i) Inypap 23x K1 7"7N it’s ynwn that mooin was " " o7
d) Further xwp

1) °>77n says that n'"9 agrees with a"aw= and not with >

TIVI T"N2 "2 270 DTINY YyIn 2DYT X*AI0

MM TMINDD By "0 MY WP QAR 792 PTPD W W TR D "2 a'ow »' T 7''N2
A'ITD2 ORTY RITT TR IMRD DIV FTIVARD FOIP 1Y MR 7O PTIPD MARYD WO 71T ROVW FINTIT
MNP KD 19 2O M7 91 IPN1T 702 WS ADMTS INWRW TAYR W2 MR T2 NTPD ATND ww
1792 NTPET TN AT ORI MR TO2 PNTIPD DaApnD W WO TIT NI IR Dapnan DY ph s by
TR 7T 2"BRT Dapia DR ORI M7 DR RITW NTPOT TR PPN MKW ORI ARY B NTRET N
WA 'Y BTN 1A I35 ONRIR 2 DAPRT Y NP RN AIRTIT 7727 KUK poawnh RYw o2
1P STTOAND NP ASWT D MWK M TR TP WO TIT 172 NTPD PRY 1D 21T D a''aw
T RDWIT 2N 2NN TI2 NN W PITRD Y 1D WDR Mo Doy "o i Xvaa vt
RT2IUAT QM7 1 1197 5199 SPaIAR A1 RIN22T D 1DRYTR 7IAY SNIMNT MOORT RTAWT ROM7T

5Py o1pT 7% WD RIM22 IDR KT MONT

1) =wnn of moaoin — nvw of a'wnsn w° 7w according to the &nx M of R"wann

a) The x°v2°x of the X3 involves "ooank 7°2 1179 17 wow a7aw yon 2°5w" — where
"5 ww" refers to the yan 220w who is 77 in the sense that he claims that it was
he who was a 17po with the 7po1 — and now by 799K the yn 2°0w is mapn this NP
to a 7apn

b) the x°va°x applies both for v 220w nann (whether the ¥ 200w was ni or 1)
and X2 ninn — and the two o>77% of the X2k are

1) 'R 7% - 737nR in the form of a ax7i works as a 1ap for pya oooo1 that are held by
a 7ol

i) "27% —only nwhw myn (where the 73pn the 7po1 and apn are all present) can
work as a 1°1p for pva o021 that are held by a 7po1

c) Note by the way that jnw5w Tavn applies only to o°oo1 that are yva — this is why
INWOW TaYn isn’t relevant to the mww of ¥
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2) R"wann

a)

b)

d)

9)

h)

First xowp

1) It’s anwv—notanxmi— for a person to say that it was he who was 7°pan a
11770 with a 7p=a

Second xwp

i) Why is this case different from any other va n7po held by a 7po1 for which an
7R by the 1ma works only if there is JnwHw 7avn

1N

i) ™%"inownon wo refers to the Hapn — the 1M says that 17po he gave to a Tpo1
actually belongs to the "72pn" — and since in his 777 the 1011 doesn’t directly
say that he is being m1pn the 17795 to the Sapn the 1ip of 1nwHw 7wk isn’t
relevant

i) And the X°v2°} — both for %>92 ninn and ya» 2°5w ninn — is whether an 73K in
the form of a nx™7 counts as a ap for 1°va o023

Note that

i) The same X>y2°X applies where the 1m1 himself holds the 1°v2 0°021 and says
they belong to °11%5 — mvoIN mentions that o*w1on w» ask the Xx°va°x in a case
where the 17799 is held by a 71 only because in the case of "ok the o°021
were in the hands of &2

ii) mw> 79°an agrees that the x°va°x applies also where the 1011 holds the o053
Xowp

i) For "1 we explained that the &>y2°x applies to a ¥ 2°ow who is 72w and
wants to be 211 and that’s why there is no question of 1121 nx y*2wa> Xow

ii) But for o'wnon w° nvw where the X°va°x applies to a nnw vn 2°5w and wasn’t
72 — why don’t we say that the yan 225w intended 112 nR ¥°2wa° KW

v°n

iii) Must be as noted that *wsn7 n°k deal with a case where we know the 2°031
1va belong to the ¥ 222w — so it can’t be that the ¥7» 2°5w intends only to
make people think the a»»n° won’t be wealthy because people know that the
0°021 belong to the 1ma and the pminc are wealthy

TR
1) The xvak is worded as "yn amaw yan 200"

i) so why do owon we say that the x*va°x applies both for X2 and yn 220w —
maybe the &°v2°x applies only to ¥y7» 2°0w and the k7% assumes that x7:
doesn’t work as a 1°3p for X172

N

i)  We established that m10°x as a 73 couldn’t give a ¥7n 2°5w ninn — SO it must be
that his 771°nx worked as a x*12 ninn
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2191 997 RBR 977 RNYD AN P52 AN WIEhR R0 P''OY "5 PRI RDN 7757 KD 2N
2R 29 57197 NONR ROIIAT IR 1D 29T AR POIDT KT AW IDTNT KD 23 NP RNDR T9IONR wwa

RrA o)

1D RIINR WIRWAT IR KRNSO 1D PROP W 7D 319 12'MR 2''ARY 7' qww o0 anb 7''Ra
29w 77''72 NIDIND TIRD2 TARPY TV RIS RNSDINT 2T B'Es Do "o waw® RN PR 1
H"PY "o ppap

WO 279 IR 12 RN TR RDONRT 9D 7' 70 MR 700 RNEOWNT wawh NN PN 7''N2
19 2n5w '2INT Bra M B B Bop 121 021 DD anow ARy »wa o' pInT Par oM
9Py " 2P A T 21972 MDY Baa WA 9127 'Y 0NRT BY PRI pana

N7 TN Y2 'Y " T nivoin

N7 "% FIRTI PR W TP R RAPTT ORI M DY "1 R ' "o ppap 1w 1''7a
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19PN TIRTY PRI TN PRY 7712 TINT

B'op "D 3RS 1Y MWIN 217 923 RAA D WIMNMDY "5 RM2T 19007 b KT TR 72
A

A2 71

X70'70n1 XnA

2912 N0 WPNPE TR N2INDY W RO ROUDLRD RYULWRY XA [K TRy 1P 07)

v 2" T nivoin
B2 77221 77''72) "2 N7 K297 91 7' 2 ARY 71O AR anwe MM RY 12 B ypap ''7a 'on
"D 7RI 7' 2R 7O 9% R 1D 0N 2 7R 1D MR 7710 237 ©o2 20 by navvn m o
e By
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[N 17x1 2™ T NIDOIN

RDIR A1 N7I2R WWT 23 Y ORI 15 N2IND YIPAN MWIN R "D 37 R 772 [2 Tmy 1p 0T
DIPR MR AN 205 "D DD DN TY Nnan e 2TRY o Bwemms ans oy "o Rnae
RN3PD R2OK 779001 92 ARPT RIIRT AR ART 29277 17271 2" 5P "1 wan RNABD TN 2R 900
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SONPT ROVAT ROV RIT2 IXTON 571 0K IO RIVT A1 NIPRA DRT 952 RNWK RY9N RDT 120 AMawnT
RV93 RD2 ORY "1 YT RY9AT ROWT V'O 1T A1 NRPRA RITT TO0D1 9D UR ORAR Wwpn w''onT "o
2WH RN U AT AT RNMDD RIT2 RN N7 RNDITS RORIP R 1D AN 70051 9 MRP INYT
2909357 9T N1 779122 BN NTN2KRT 201 NI2IN02 AN MHDT 1IN 27 1T NRNaRa RNMYD RDINT
RY NIPR2 DR NNan D07 AMawnn Dar v1p nnnan a2 ERT 120 70 T 2'aw Nanw
FNYT RYPART DR IXIN RN 1P RPT 17 2D 29021 D527 KRR MEW A'"'AT WP XOWR KD 1
2152 VP A" 1ARD 'O TR 1T DD M1 NXPRA NPT RO9AT 23 DY ORY 001 o2 v p''

1)

2)

3)

4)

5)

2T PINT NP T 2 IR KD NPT RW9A K92 R 19021 o2 anT 1A 2997 2w
Rla)}

a) There are five o°1°7 that depend on 2°021 %5 n2°na — one is that nrnan needs to be
an> all of her o°021to a P17 in order for the 17 to be 1p X

X773 In M21N> Noon

a) 11w 21 holds that *3p nn1an vw even for 7910 7an> — HXnw and 1am1 27 hold that
NM2n W s 1P R

b) °2°n°» — 11w 21 brings this Xn>22 where a°»o17 hold that »1p
i) 2"2aw" 127 0°NKY 0°0D VW Nand
i) 73R 9195 172 PrXn 0X0 0NN 2°non

c) y™n

i) 9%°%n3 32 nwnw 127 holds that a nmnan “vw is *1p X even where 7an2 only nxpn
0°021

ii) o°mon say a nnnan v s °1p where 0°031 n¥pn 1an3 but if 0°001 95 72n> the 17
IS °1p X7 — 1211 27 and Yxnaw follow this qvsw

a"awA in our X210 mentions the "2°n°»" and the Xn»=2 in which 3"awn and o’non are
rivalgtal

X3 at .x1p a7

a) 7w a1is a7 that — if *2101K DWwnT ANYT X923 — NNan W isn’t AR even for 7and
nxpn

mooIn
a) Nwp

i) There exists another unrelated 17 that applies only if there was o°051 95 n2°n>
—why doesn’t the &7 list this other 17 together with the five that it does list

b) y»n

i) For the other 17 there is a X295 — the &3 doesn’t list o°17 where there is a
RNA9D

c) Nwp

i) But the X3 does list nrnan 17— R27w M3 RNAHD KK M1 NAN2R 0w A"vR"
"R 1127
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6)

7)

8)

9)

d) ymn

i) "7APY MRTI RPDY P10 TN RIT OV DIWNAT ANYT RO9IT KT DIPn 2on"
e) %"wann and X"wonn disagree on the mx°a of nvoIn
pllahta

a) Mmoo asks that for the 127 that °3p X% nnan there is a Xna%2 on whether 7an>"
"77715 is relevant since HR°9n3 12 YRw 127 says 1P X7 even where ngpn 7an3

b) msown answers that the Xxn31%5 on nxpn 7an> applies only where 7ny7 8293 &S
R"wann
a) Nwp to Y"wan

i) The fact that where 7ny7 &°2x all agree that °1p X% even where ngpn 72n2
makes 7910 nan> even less relevant

R"wn — K02 of the ®wp and y1on of mooin

a) mooIn suggests that — to be listed what’s relevant is that there be no Xnx%» that &%
>1p where 7912 720> — and it’s not relevant that 7X°93 12 1Wwnw 127 says *1p R also
for n¥pn 720> — so Moo asks no X>wp at all from X973 12 PR 129

b) Instead m»oin asks its &>wp from v 217 who in fact holds that 710 nano is »1p —
and mooin answers that even 11y 27 agrees that there’s a case where 7210 7an3 is
*17 X7 — namely where ny7 X793

c) Nwp

i) 0"aw" doesn’t refer to 71¥ 27 and Mmoo apparently refers only to nInx%»
mentioned by "X 12°27"

d) yrn

i) We’ve established that the *2°n°» to which a"awA refers is a x°wp that 11w 20
asks to xmw and mm1 29

Twni of R"wammn
a) Nwp

i) Still for 1av 27 it’s more relevant for *1p X7 nn2an that any7 X°93 than that 7an>
7710

b) yen

i) For 1121 and yam1 27 it’s more relevant that 7912 7203 than 7ny7 X°23 because
they hold that were °1p X% 7915 720> even where ny7 X293 X7

c) This is a n¥p pm7 because this itself is a xna125 on whether 73210 7an> is the
dominant factor

|"70%70n 2" TN

FIRTI 22T DO "D 1" ' DOpD ART R ROAT KDY "D 721000 77w e 1 hubun 172
ST ATV TANORT HUBLR KON WO MR RATR 1MD IN2IND2 22INDT HWHUR WA 1T RYT
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A1 PRYRR TR RITT WTD ROWPT ORMMA 1" PADT RUTIN DYV WID RWP T KA RO "D
FIOIY ATINHA RIAPIRD KON PRYART 77 2K KUK 721N W 7 KD PPOUHURT 957 JRRP
7' TATTD PRI T RDT ROR UIOIYR MBI WTININD MIVNT WID YRR 1" pUDT RO DaN
SIN2INSD QTAMT ™R MWIMKY 7AINDD 2TAN RDT VR aNTT KUK AP X2V 2"y 5 axy ann

RrA o)

1) X3 according to the xo9a of mooIn

a) Tk says that ¥ 12 1Ry 1Pubbn count as a 1w for certain o°17 that aren’t
relevant here

2) moon as explained by x"wann
a) Nwp

i) In P miw pao the x7na deals with 17°°1°v2 1730987 120507 and yet the X
there says that 21w »177 82 190507

b) v n
i) ok refers to Poubun that are o1y ymanek and that were also 721037 177
i) in Poma w the X nx deals with 17>°°92 1730°K7 190507 that weren’t 729037 77
3) X"wann
a) Nwp

i) There are several instances in our n»aw » P79 that say that 15v50n don’t count
asamw

i) Why didn’t m»on use these instances in our 75 to prove that & must
mean that to count as a 71w the 1"%v%un must be both y1»1°v2 and 721035 770>

b) y1n

i) We might have explained in error that the cases in our p5 deal with Pov5un
that aren’t 11°v2 — but in P2m1 w° P9 it’s clear that the &3 deals with n1vs
that aren’t 17217 but 171»°1°v2 yanR

4) R"wan

a) inour 20107 we are o for Tk that ¥71°°1°v2 1mIN°RY 721002 °2°n27 “Hubun count as
a 71w — mooin didn’t have this X073 because if it did it would have realized from
the start that both y7>°1°v2 y7an°Kk and 377> are needed for 2w

N7 T
"MUYT XAl'M 2"T D"awvwn

B'op "D TR KDT 00 IR K92 1R 7T U A0 N2 KD 772 2" awnna [R TRy Rip 07
AT PITOMY PPRINDD 2" OW MMATT DI RAVY WARP IR 1D AR M2 IR 1T 170 NPT NN
SR TR RDT TS 2NDW RIT WD N 1APDTS YAD K02 NINMD 7T DTN VRN 17 1P R

PITY RDR 2wH WY IV AT NINKAD A1 N7 IRT 71TV PR Al

1) mnpn
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2)

3)

4)

a) Ifa v 200w is 1oo1 92 am> without 71w — no 1°1p is needed and the 73nn counts
as a vn 20w mnn even if the yan 220w decides to make an unnecessary 1°1p

b) If a vyan 200w is 1021 n¥pn amo and there is a 7w — a 11p is needed and the mann
counts as a &>12 ninn

Rapla)}
a) DY 277 »PR was a ¥y 2200w and said that a *12 0ny? 17 MuwT R
b) the minn counted as a ¥y 2°0w nann
0"aw"
a) First 7onn
i) 0y 277 R made a 7Ip
b) Second 7% — 118
i) she made no 71 and there was no 2w
X"
a) PN

i) a"awn implies that his first 9771 — that 09y 217 “»°% made a 1°1p — applies if
there was a 1w

b) xwp
i) If there was a 7w and a 3 was needed the case counts as X*2 ninn — why
does the & na say that the 73nn was a ¥yn 20w ninn
c) y™n

i) o"aw" means that there was no 7w in either 727n but in the first 797 she
made an unnecessary while in the second 7771 she didn’t make an
unnecessary 1°1p

i) And because no 71 was required needed in either case the 7ann counts as a
yan 2°5w ninn for both cases

ANYT X172 2" T NIvoIn

'Y %R By "o ani DT YR TR RY Teva nnn RIS Y9BRT "1 nYT XA 772 'on

"y ' wNRa

212 7T NP 7
m" g1 imn a"Tn

AT IR TAY ARY 20 KDY "D MWINY 712 K2 PR "D WO 1 172 [2 Tny RIp Y]
N7 95 RAND MR ORTIA N7 2w 2an1 B0y "0 1am 200 0 YRR RTT IR OYaT KON

MWD 1T SWPN YDWT AUTIAN 2T ATTINRT PRI 7772 951 Do IR K92 AR WM "o A" pT

AN MR RANDT DPVT TA73 2971 TWIT TAY ART NRTY IR KDY IR AT TART ROIT K207 RAWEN
VPIAD BT R ROWIWH 297 K27 279272 WP 77D 19279 TP 28 I IORT JWRR PIp K92
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W RY TR DR DOUDT 1AM 297 K7 9 NOBT b RDWT anvwIpa 1Y 9an0k ax as anviaTa
TAMI 27 N7 "2 92 AR DI 920w 91 1757 IR Ova RDPT "2 P 1mnsw axmna T MaTN
"SINT TIT T IR WIT IR TAY ART KR 7''ORY P71 K92 MR RANDT K20 N7 ;00 v Db
R72 KPR RN 09D KD K127 ROWWR 297 77IRDD 10 yRwnT ' nDSINT 2727 N0 Yan
NIPE 2" NIRRT RT2 PAR IR Y2 K97 MARP TN IR Y2 PR 2R nInnT Na0 MRpT
MDIRY R RI9277 RO 27 99271 RDWT K27 799 93095 K 1977 1R IR 7177 RI17 AR 7AY ON
PP RPIT MOR AT 27 RPIT N2 101NN VP OO MIT TAY AR IR RD2T 000D RDINT TN
732 29DR R B D K2 PRI SIRDI PR 92 SN K2 27 DaR I N TAY AR 1o
WAT PV KPR RIM2 NINMD A1 MR THAY R PIPY 30 1200 KOW RIM2 NINMD RIT 0T R2D MKW
AR RIINY RII2 NINMD U7 KD RNOR 7727 7Ip2 BRI 7AY AR DN RI2 NINRD M7 N IR
AT IOR K27 D"PT 71901 M WINRT 0 MR DY Papa 2 2RI 1D 1am1 200 0 JuRR X7
MINAT AP KP2 AR FITITDY IR 90 NINTD D MRRP I N MBI RIAT ROWAWH 27 MWKP
B2 W2 INPT ROTT DInmn 77 IR DA BRI ORAR WPN NOR D''RY R2TT 10 AW RY 1N
RITOIT RDR 7 7Y ORT PP 22T R2D 9290 192 D97 7R T 2" 1D nRvR NNk R
DR ANINAT PINTTE RO 'INR DAR I WINR TAY AR MRP RITI2T DPDT M1 290 MINRD 1T
BRIAWD 1apY 101K 1777 P12 19ODRY DR YPIBR NRP ININR PR MW RHT XD N2 RMIT
P3P O¥AT 207 X270 RIT 12 IRTIT 2" 10 7wt "207 2P 1200w KA a1 RN 2''awnst
RI927) RORWWH 297 WPAT NN20 957 AR T 1R TRV ART RII2 NINMAD M7 921 K72 X2 NINRD
VPRI DR I TAY ANY RO2 NINRD T R K72 M1 7T IR Y2 KDY RIN2 nanns M7 RDT 2T
SP'ITY AR DB 22 22T PPIPR RPIT DI1R W IR VART DIWHT 1AM 27 N K17 anna

1) First nnipn
a) X712 nann is 2 only with a Pip and the 101 can’t be ann
b) #9102 v 200w nann is i without a 1°1p and a1 7Y ox
2) Second 1n7pa — Rwaon of 1na a1 at :nnp A7
a) "IN IR TAY OR NXPRA ¥ 2°OW nina"
3) Third mn7pn — nvow of H"wnin on the X of 1am 29

a) 7M1 27 says his anoa 17 — without saying whether 21m 1o Ty ax applies only if
n¥pn nInn is 1Ip ROy

b) It follows that yam1 27 says N R Ty oX even if 1°1p X°ya RS n¥pn ninn
4) Fourth mn7pn — mawn of 917212 5w K

a) At this point in the X>»10 the &3 assumes that this nawn holds that yon 2°5w ninn
7717 X°va XY n¥pna and that ann 1y ox

5) xma

a) X297 —"PIp ROVAT RO NINNI ROT O NEPR2 YN 20w NInn" — X217 doesn’t say
whether a1 72y ox

b) Xwp by ®wawn 27 to X217 — The 7awn of H917 212 YW 1K says 1°1p Xova RS

C) X127 agrees with ®wawn 27 — o°v7» of the nvw of X127 aren’t relevant here
6) Mmoo

a) Nwp to RwIwn 20
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120X [Fawna] nn vpl RAR [ROWIWH 27] "wpn W N0 9% ankn oxY"
"I PR NEPRA YA 290w NINNAT 1190 3 [7Tav] ann X9

7) mooin as understood by "wann

8)

9)

a)

b)

ROwp 1o Xowwn 17

1) Since X231 holds that y1p &°¥a nxpn ninn because the 7ann counts as a X°12 ninn
— it’s 1anon that X271 also holds that 217 1°x 7y ox the same as X2 ninn — so
X*wwn 27 should also have asked %21 that the miwn is X271 "mo not only in
saying that pip &°va X but also in saying that ann 72y ok

i) possible y1°n

(1) if x21 had held 1217 %°ya X% he also would have held 211 72y o8 — s0 21
X°wawn in effect asks that xa1 should have said 1°1p ®°v2 X7 and it would
have followed that he’d also have said ani 72y ax and be fully consistent
with the mawn

iii) x>0 to the possible Y170

(1) why would ®w=wn 27 assume that 27 would disagree with 113 27 who
according to 5"wann holds onoa that anm 1ok 7w ok whether or not X°v2
P

v1°n of "ms v T

i) X217 can disagree with mm1 27 and if the 17 were 1ap X°va X5 could say that ox
T 7Y — so that the possible y17°n isn’t 7791

X"wAnn

a)

b)

First xowp to 2"wnn

i) Since %21 holds that 13p ®°va it muws2 follows that without a 1°1p the 7ann
isn’t o>°p even if van 20w dies and isn’t W

i) And mooin should have asked this more basic &*wp to X271 — how is it that X29
can hold if p1p X°va X2 a mann isn’t o>p even if n» while 121 21 holds that if
717 X°va X7 the P7is i R even if 1y

Second Xwp to "wAnn

i) Why doesn’t mnown ask more directly to ®wawn 21 and X121 by way of nvn?
that the mawn that says 1°1p X°va X? and 1 7y OX isn’t consistent with a1 27
who (according to 5"wann) holds that amm X Ty ox even if PIp Xova &

Third ®wp to 5"wn
i) Since %"wnnn says NvOIN can’t accept that 27 disagrees with jama 29

i) how can msoin in 9> v 7 reverse itself and say for X297 in 1% w° 7 that
it’s possible for X2 to disagree with a1 29

X" — another 727 in MooIN

a)

First 7a7pn
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b)

d)

i) Neither X217 or X1°271 X°wwn 27 can be poinn with 1am 29
Second 7P

1) It’s possible that a1 27 says 21m 1°R 72y ok only if the 1m1 made a 1°3p — and
it doesn’t matter whether the 7111 made the 117 even if 11p X°va X2 and the 73p
wasn’t necessary — Or that he made the 1p because 7°1p ®X°va

i) So R xwawn 21 - without the reference to X271 that we’ll discuss below —
can agree with 1am1 27 and explain that the 7aw» deals with where the 72w
didn’t make a 737 and that’s why 27117 79y OX

Third 7P

i) Since X271 says 1ip ®°va — the 1011 must have made a 13 — and based on ym1 29
who says that anm 12°X 72¥ oX where there was a 1°1p — it must be that X217 holds
a1 IR TAY O

ii) mooin at first assumes that xwawn 27 and X1°27 are P2 with X297 only on
whether 17 ®°va but they agree with 27 on whatever %27 holds regarding
7 — so that if X297 says 1 10k Ty oxk where there must have been a ip
because 1°1p X°¥2 — X127 RwIwn 27 need to hold anm 1K 7y ok even though
"1 X°va X7 and in fact there was no 1ap

This explains why mooin based on &21 asks that the mawn that says 1ap ®°va X% and
I TAY OX S a XOwp to Xwwn 27 and K%

The y11°n of % w° 791 holds that in fact x°wawn 27 and X1°27 can say 10 71y oX
where 717 X°¥2 X2 even though X217 says a1 1°R 7y ok where there was a 11p — it
follows that they can again say that 1mm3 21 holds 9mm 2°KR 7y ok only where

the ¥y 220w made a 1ip even though 11p ®°va X7 — so the mawn is no longer a X°wp
to Xwwn 271 and X120

10) qwni of ®"wann

a)

TRTPA - R TIwn
i) RW*7 —nnp ININn NXpna YR 20w NInn
il) K90 — Nn™p Wnann PR 2192 ¥ 295w NInn

b) xwp

i) For the 72mn of X"wonn that mooin proves from 1ama 21 that X271 needs to hold
TN R Ty ox for nepn nann where there was a 1°1p

i) Why doesn’t mnoin rely for this 771 on the xw» of our mawn that says 2°ow
nn>>p Inann n¥pna ¥ - here too X271 would have to assume that there was a
"1 because 1ip X°va — and the mawn says n»>p wninn presumably to teach that
T IR TV DR

N

i) The mwn prefers to rely on yam1 27 who says directly that anm 1% Ty ox
because the 71w»n might mean n»>>p 1nin» only where he died and wasn’t i

d) xwp
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1) Butif n»>p ninn in the X for nepna vn 220w means where he died and
wasn’t 711 — then in the 89°0 for 79132 ¥ 225w — N> 1NNk X would mean
that n»»p n1°} even where he died — and presumably that’s impossible since
X172y 215 agree that 1°1p *va X7 79102 vn 200w

e) yn

i) It’s possible if the 7awn deals with where the ¥71 2°5w made an unnecessary
17737 and follows the nw w of HXmw at .217 77 that 72102 ¥y7n 220w nann isn’t nR»p
if the ¥om 2°5w made a 7°1 that’s not necessary

vann a"T

TART I 20D YRR R 30 PWHT 9o 1D 20 UNIY AR VA T VA N A" "D vl un "'
AN RITYIT 1T AT AN DYAWDT YRR 11N DaAR 12 MDY OB NI D1DY RYT PN U 21000 RY
1H'"'PY N YRR WY ININ

MINN 7D "N

SONT 1D R'OY D JWIRWR 7T VA AN INPT R ID NIWD 157 AT 01D 3N MINT 92 7''N2
SUTT YRR A1 TR AT WTD AR K37 'OINT 2T BYT AT 09N OATY TR PR DaR D'wann
BRI R0 90T IR DRRR KD PUIRT REAP 27D '0IN2 1R DD 1200w 10 P2 vl

INNN ONI TN

'R "1 29PRIT aNDa RTOT TR 10 PIRT TP YRRWNRR ORM RN XY 7''R2

[A 7702 "y nn A" T97] T TR 'R 0 INYhY TaynT X210

SINAT AN OTITY AR DR VW2 P INWHR TAYR PRT RWM2 R'apT 7'Ra [R TR 217 7]
7ADR PRT MW IR PRT 279272 951 2%we Msonn DR Doy "2 A"ADT UM 1an una
2757 INRAT 1IN A1 RIN22 770 PIAT INMAD WIIT TR 2"V 2RI 1PUA RIS T0wa e nwhe
PU2 VAT PRW 1N 2N IR ORT DIWH 'DINT DI 2wa a9 3T INRY 1% 1N 1and
29292027 '3 TR TR KD 1 AT'TD MRAT A TRDR M1 RDT JIPIARKRY 190 TUROR KD Ao
PRT JPYAWR PPY2 RYT W AR 237 217 B 10 97 0wt X122 NInm IPIRT 3190 "0 '
"> TPRIT PR 1R "D TREIT MIWN2 YR ININD RW MMAT RAPIND RDONRT '3 TADR PUm

STVIRTY PR TR PRI 'DINT PIWDR R 10 BN ORITT 2027 1297 DY AT BN

With the assistance of R’ Tzvi Braha and R’ Mordechai Faham
1) 'R nmnpn

IMIT NAY INRY 11N R? — INWHY TAYA RDODT 1DINA 117D 711 11N IARY K72
IMIT MW YpD 1257

NYW1 71N 17K 2°WNT AR INRY 1IN — IO TaYna Dapnt 1Ml mpnw fan
TMIT MW YPOW 199 PIPN

2) 'annipn
Y2 IPRW D27 NIPAY S K2 INWOY THvn
3) annipn
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VAP WK VY 1991 7N INRD V3 PR 2AR — AT POMN PPN YN 290w 2T
ROR 9MWY IR WD 172 VY PRI — 91T PN0MIN PAINIDT R OIN K7 MW
1M1 2 22pnT TOH ik 1R

4) "1 anTpn

IR NIRT MWW 121771 22pnY VW IR "IN 120" MR 1M1 WK CINPT R
T¥a

IN? X Y2 RNPR 7227 7272 721772 22pn% 927 "N R 1M1 WK CInpT X0
TV IR 2701 110 1202 Y POT INART

5) Pvaamwn
0% R 1307 XY — NN T72YY MINW WY CNWRD VA 1IN NINT — XY
707 ANRD 1107 — MM9OT 1731 110 NIRT — KD

| AN°M IMRY 130> 7131 130 — XO°D | 70" MY 10 XY 13 130 — X |

6) X in Poa
a) mw of 7aran

i) based on a & not relevant here it must be that the xw1 deals with &2 ninn —
and it’s 1anon that the x9°0 is 7m17 to the xw»- and also deals with &>92 nann —
and in the x9°0 the 177 is 7 R, 10> because the 7an was °va at the time of
the n12°n1 and the n1'n1 was completed by 1nw5w 7avn2 when the &2 said 10
before he died

ii) note that we haven’t yet explained for 7°ar 279 why the 7 in the xw1 is that x>
N nR? un°

N7 XY 1307 731 0 — KO0 0% R 1IN0 KD 03110 — XY
TPYIW 7277 JNWHW TAYRa X212 DInn APV WIBNR RY INORY K12 NInn ==

b) nmww of 899 21 as explained by moon in Poa

i) the x> and the x5°0 both deal with ¥yon 2°5w ninn that counts as 1°210133
Pon1 even for a thing that’s not 1v2 — the xw>n deals with a fan» of a ww —
it follows that 11n in the xw» for auw actually means 11m 12n> for a qvw that’s
not pva

i) The xw teaches for qvw that — although *»7 10m1 12210133 ¥7 20w *727 - still
097 RS 1IN RY because 70 nRY vl PR

S0 RS 1307 739 10 — KOO NP7 NRY N7 KD 03 1IN — RWM
PYAW 1277 1NWHY TaYna X2 NN YYD WADNPK KD ONORI XA M | 701
£727 9235 S}T 19701 PN AW ann 12053 1Y WKW BN Twwh A"w ninn | NDP a1
A0SR ANRY 13 PRT PO a2 by bo% 9T PNIOMY PANDOT 23 HY OART 1M
7N%R MR B3 PRT 0% MR uNS XY 2P

7) mooin as explained by x"wann at "mp7 7"R2
a) Xwp

i) We’ve established for 721 21 that Xw>1% 817 89°0 — S0 presumably the xw™
deals with jnw5w Tnvn the same as the x9°0
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b)

d)

f)

9)

h)

ii) so why in the xwn for va is the 127 that fn°n R 10 &% while in the x5°0 for
7 the 127 is that 0o xS une

Possible y1°n
i) The xwn deals with where the auw is pva and the &2 said 1an — not 1n 12n>

i) And the xw»n teaches that the 1°3p of JnwWow Tmvn isn’t available for a "vw even
though the aww is 1va

X279

i) "nxn1pR" that the Pip of 1nwHw Tmvn isn’t available for a vw even where the
0w IS PPya

N

i) Must be that in the xw»n the 17 is 1n° 82 because the qvw isn’t Pva and the &2

said 1103 120> the same as for 95 27 — and we’ve established that there is no
INWSw Tavna 1Ip for a pya 1KY 237

ToRY

i) Then what v7°r1 does the kw1 teach by dealing with “vw instead of 17mn as in
the x9°0

ii) After all — if all that the xw™ teaches is that there’s no nwow Tmyn for an
object that’s not Pva — the miwn could have taught the same 7 for a i that’s
not Pya

n2wn

1) The wyn of the xw™ is that even if omn° are willing to be 11 the “vw to the
92pn they shouldn’t do so because 0 Nk va PR and the va can’t bring about
WA OF MW

i) Note that his point is similar to the same w1°n that Xo 27 derives from the
XM

N7 XY 1307 731 30 — KO0 0% R 1IN0 KD 03110 — XY

YA 7277 WL TAymRa X2 NInn INWHY TAYRA 71P &91 11011203 X072 N 312
29099 19 RN DR ARY TV 2 0RW 00
70 KD v PRT 9 1Tane KD bapnb unv

717 K97 19IX2] T PNOM PAIND 2"W IR | 10112003 YR ITRY 120K T0wh 2" nang X595 17
[FronanR? vaa | KD 2R 9om 0T P0m PIN0IT 23 9V AXT

aNPA AR VA TPRT AN NRY U

Xowp
i) We established for 7221 21 that the &w»1 and the x9°0 must be fm7

i) How can he now say that the xw>1 teaches ninon anx? va Px and the xo°0
teaches the 1>7 of JnwHw TN

N

i) For 721 27 it’s enough of a 11°'»7 that the xw»7 and xo°0 both deal with the same
X723 — namely a &2
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8) Twni of mooin as explained by R"wann
a) Refer back to the “possible y17°n” and the "&>7°5" mentioned earlier
1) Possible y1°n

(1) The xw deals with where the avw is 1va and the &*72 said 10 — not 1an>
um

(2) And the xw»n teaches that the Pip of Jnw5w 7w isn’t available for a qww
even though the wow is 1°va
i) x>
(1) "nxn1 pR" that the Pap of jnwSw Tavn isn’t available for a Mvw even where
the oW is 1ya
b) yyon of "% we 13" to the X570

i) the x>7° doesn’t apply because the xw»n for 7221 27 teaches that — where the
facts are "nyw nnRa wRW" whose details aren’t relevant here — Jnwow Tayn for
a W isn’t W — meaning 1nw>w vy for a quw works only to transfer the
9»1 of the "vw but can’t transfer the o*m>r written into the “vw

ii) It follows that both the xw>- and the xo°0 teach o°1>7 of JnwHw 7nyn and are
completely nmnm7

TN NRY 1IN0 73 1IN0 — XDD N NRD 1IN0 XD 03 1IN — XYM W T
"
YAV 7277 INWHY YR X2 NI | PR PY2 T0Wa 9217 110 RT X2 NI a1 20
WL WA 23 RY "YW ININD 1R WR
7°2v? K91 7737 172w ROR PV XITWD AR
oW M7

71T X7 19IX2] 1T PNOM 1IN "W ANy 110712032 PY2 IPRY 120K T0wH »"w nanng X950
[FPon NRD LA | AR? 1IN XD 2"DYRY MT PNOM 1PN 1'RT

N NR? VI PRT AN

Inmi T"Na 2 770 MUY TmynT X110

RDR K272 IRTAR S30HDT 1987 KDT 7190 2" 50 10 RNMDD KW 7YY RN PR ¥R 7R
TUIAT 2''DT 'OINR SIRTI D AN 12052 RWOT P57 KUK RRON2 M1 AHET 00 30 N9 X502
TH'TRY IPIT 9 NPT KDY NOAR 777 772 9 Dwam

1) qwnn of mooin as explained by x"wmn at w5 7"82
a) X279 to the y1n of % w 7w in 'R P9 of this a7

i) the 9%nn of 9% w> 7w brings about a o>X" Kk npPnn in the mxexn of the xw
since 721 27 says the w1 deals with 1n for a avw that’s Pva while x99 27 says
the xw can deal also with 11n 1205 and a qvw that’s not Pva

i) So the first y17°n of mooin is preferable because it holds for both 7°21 27 and
x99 27 that the Xw deals with 11011205 and teaches that 7nom AR 03 PR

NN NN 2"T NIDOIN A PN MYV ThynT X'AI0

DN 77O IPINAT IRAY PTRTY w0 Dop "D A TAYRRY RIM22 AN 0 OPIAT INKRD DA "o e un '
NN20 95% YD MDDINT WP 1D MIP INWR TAYMAR A NN RY2T N URI IRMK 70 Wpn X922
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RWIMT 97K N2Y UPIT DR MY RDOR DR 9DV RNIAD M7 K2 N RDT 7190 2ws w0 qwpnn
R NRR DY RNIAT M7 DR KDY AW BRT TWRKAT NN20 00 AR N MRS 1N RYT Wi 1uNT
P'IITY RWINT TR 2R NR ann® b

1) First in7pn — x9°0 of the mwn of H171 212 5w v
a) NP ININKM DA ORI PIP RO KD NEPRA YN 2900 Nann
2) Second 1nTpa — ann 8"7 :RIP A7 N1HOIN
a) Nwp
i) the mwn should have taught the greater xnma that amm 1°R 71y oX
3) R"wann
a) Nwp

1) Why doesn’t m»oin ask the same x*wp to the ko0 of the xn>>72 according to
7°21 21 — where there is a Jnw5w mvna it makes no difference whether the 1 is
nn after the 13p — so the xo°0 ought to have said only "in>" without adding
"o nR>"

b) v n

i) "7mX" the Xw needs to deal with n» to teach that 0o 2R V3 PR — the X9°0
also deals with n»n

c) Nwp

i) The xw™ of the mwn of %17 °12 Hw 1x also needs to deal with n» for a reason
not relevant here

i) So why doesn’t ma0n at :X1p 77 answer that *7k the X there deals with n»
the x5°0 there also deals with nnn

d) yn

i) For ¥y n 200w ninn it’s a kM1 to hold that if "anm 1R nin k91 7v" — and we’d
expect the 7awn to teach this xman by not mentioning mni — instead of
mentioning nn» because of 71X

i) While for 7521 21 it’s not a Xn127 that a 872 can’t be 117 where there was
NwHw 7yn and we can accept that the mawn mentions n» because of 71X

yan 2Dy ninn a"Th 'X 770 |27 D2 AanOw n''y nann X210

BOPYY TR IR 1T "D Ann DR N0 IR PIRT 1 77T 0 BRIAWDT Ty o 2w nann M2
9152 2" NINKAR IR OPAT NXpEs R nannn 2'Mawnsh b XWwp ORD YR Yoy 10 DRy
SRR MIRD AR PRI N MKRY D I RWT AR NIRRT KUK 7102 MIPRD B PIp vpa RY7
NINRD B 1UIP SYAT NEpEa »'W NInn 1921 92 AR NInK P2 9K 9OraT RO 2 awnes
R 92 R KD 9INPT 470 ROWP RDWONAT 22T WHDY IR N MRS NIpaR YT PRT X2
RD 710972 MRS AR DRIARWDY PRYRY 79102 PRWRTD 7P N2 AR DaR TAY 2R 1 a0 INInn RT
TINM ANINM NRPRAT RWINTA WIDUTR 14D MR A2 DY INMY N MRY IR PRT 2R 1Ip°
MR RWITT 2pY° 120 w2 1200w 'DIN2 1APR NN DAY BB 'ownm w'thn PIp ovaT b''pT
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7 OR AR BRIAWY 1921 29 392 ROITT 'DINT NVRAP AWM 157 DHT IR K92 IR RDWOM PIpa

1)
2)

3)

4)

5)

6)

7)

PTITY DRIZWD 'DINT NRAP 2P 11920 DY 2wt R KRR HRIARY Ro7 10 Xwp
First 72727 — 1P °va X2 1°001 92 200w ¥In 200w
Second nTpn — mwn at :np a7
a) N»°P ININN 1°021 NXPR ANIW VI 20OV — XYM
b) mn Y ORT 9192 NP INANK PR 1°001 92 20D OXY — KD
Third nn7pn — xmx at :Xip a7
a) 1°Ip X°¥2 N¥PHA YIn 295w NNk XNoY
1w of the X

"33 IR 22X IR 277 PRwn 2702 — "PIP 72 20w YR 200w nann"
IRT NPAD 91277 72 PNIR ORA RIVT KD IR ORIDW — N0 IOR TAY ORI 71PT
Y 93 P

a"awn

a) The npyonn between 27 and Hx&nw applies to 79122 yan 2°5w ninn where the 20w
yan made a 1°1p that wasn’t needed — Pxww says that because the yn 2°5w made
the 117 even though it wasn’t needed we’re wwin that inon R 1mpE% o0 and
0O NRY PIp PR

b) The np1omn applies whether or not there is a “vow
mooIn — Xwp to 0"awn
a) Foran

i) Since the X of the mawn on n¥pn must deal with where there’s a 1°3p it’s
72non that the x9°0 on 7915 also deals with where the yan 2°ow made a 1ip even
though the 773> wasn’t necessary

ii) and for 27 why does the mawn say n»>p 1ninn X in the sense of ann 72y ok
b) For >xmw
i) We established in the 7 that 11p *va n¥pna yan 200w

i) why does the xwn of the mwn say for nxpna that nn»p wninn and even if 71y
an7 1R — the mawn here too ought to be wwin that RS XX IMIPT7 3 KD RdW
nn

iii) the following x°wp by X"w2nn is obvious
R"wATn
a) xwp to the xowp of moon for Hxmw

i) 0"awn has explained that it’s only for 7212 — where no 1p is necessary — that
an unnecessary 1°1p makes us be wwin that the yan 205w is non RS 71PN

b) v n
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i) Mmoo asks its xwp from the xo°0 of the 7awn on 79152 ¥ 2°5w where there’s
no 7w and where the mawn says ann 7ay ok and implies that if n» then the
Sapn is anp

i) and — the same as mooIn says in its Xwp for 21 — it’s ynwn that
(1) since the xw=1 on n¥p»n must deal with where there’s a 11p

(2) the xo°0 deals also with where there’s a 173 even though this 171 isn’t
necessary

8) mooin — v w of 2py° 12

a) °n°n 2> an that because the xw deals with a 1ap the x5°0 also deals with a 13p — in
fact the Xw>1 on nxpn deals with where there’s a 7°17 and the x9°0 on 791> deals
with where there’s no 11p

b) this 727 is aw>n the nvwip of moon to o"awn
9) Twnn of X"wnn

a) The 7%nn of 2py> 11721 supports what X"w-nn said earlier that the x°wp of mooin to
a"awA for SRnw is based on the X9°0 on 7910 the same as the x°wp of n1von for 20

PNITIT'NA 2 770 17 D2 AnOw n"'w nann X210

2"aw" R B''oY "1 07 YRWwR RY 02T AR 1A WIS 71512 1NIWR TMYITY T 7''Ra
TIPS QY WD DY RPIT ANIWR TORYIY KRNI PIIT N MKRD PIp PRT MWK 1 TIAD IpaT
JPODTA WINTY TITD IR QY M2 DM W2 WNWT 27 YRR KD TIN02T 17D DYa 10 MR 1A
VW AY IR BYDRT 1APDT "OINTT NWIDY 712 1D WWAT M1 MR KDY 1P A nXpra 2w ninn
T2 TPIP2 DAR DRIAWD N MRS VR PIRT JAR WWT TIN WOIRY P2 W7 TIN2 PP 2
RNWST 71D 9159 91 SP2T MRP KDY IR SpaT DT RPODD 712 MDY K92 TIDW 1Y 057 1NN RY
SInRAT "2 UPW 90 B N "1 19001 90 answ 2''wa 1apST DRIRWT RIS 172 D2 N Inn 1w
NLIWH 95 DY AR P52 RITI2 NIBDINT 2151 TWWIT AY IR 1 YIMRT IR "D 19001 B0 amsnT ol
UT9 RPOODT R 927721 1ARDT PRIAWT RIS 172 2157921 0w aY 1Ipa MR Ko7 MinnT a''am
"IN Y I TAY ART 72 PYIN NTT W TIND MWRW KOK W7 aY PIpa 270 P 'onk

IR'ITY I TAY ART W K92 RDU02 NP LW aY PIp MIVNRT RO

1) Twnn of mooin
a) 117°n to the x>wp of mooIn on o"awA for Hxmw

i) The reason why in the &5°0 for 7915 the 73n% is nn>p if N is because the mawn
deals with where there was a 115 »15»

i) A n>»o» can also be made 179 Hv — so that this y17°n applies even though
n"awA said earlier that the o°1>7 of 21 and %&mw apply also where there’s no
Tvw altogether

b) 270 as explained by R"wann
i) This is apm7 because

(1) the 75977 mentioned earlier for nxpna yn 225w ninn is that 11p X°va which
implies that x°va only 3 and no o>
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2)

3)

4)

5)

6)

(2) and since the xw™ of the 7wn on nxpn can’t deal with where there’s a "19»
> — it’s 1anon that in the xo°0 of the mawn that deals with 7713 there also is
no 1> "o

Twnn of the X
a) Xwp to Hxmnw

177 11PW 5"YR DOINKRY 19021 7 2NOW Y 290W ORI IR 77T 27 MR K
71 NP2 AR NN Ty

b) yn

i) 12 PR 79912 1T ani IRY — it’s only where there’s no 112 19 that YRnw says
T2 NTR ORN RIWT RO

maoin — aww of *"1 as explained by R"wann
a) Where there is a 1°3p and there is no 2ww

i) For 177132 y7n 200w nann — the 1217 is »1mn both for 27 and xmw even without
1> *19» — and Nn Y oX

ii) For nxpna yan 225w nann - the 17 is 1ap is »1mn both for 27 and xmw without
12 *19» and N IR Ty OX

X"wAnn

a) This is consistent with X"w~mn in the prior m12>7 that the 72%7 that yn 225w nann
7P X°va nepna implies that only a 1°1p is needed and a 1> *19* isn’t needed

Twnn of the nww of >"
a) 27 and Yxww are P in case where there is a "vw as well as a 1°1p

i) 27 says — if the 1°1p is qvw2 210> then *w5°1 70k "239x and 17 1R 72y o — if
the 717 isn’t Qw2 2105 the 1o of the 92pn is vax and nm Ty ox

il) XMW says 72 PR Rn K17 X2 and the mann isn’t nn>>p whether or not the pap
IS Juwa 2m>

b) The mawn for both 21 and Y% mw deals with where there’s a 7w and a 1°1p — with
the difference that — for 27 the nawn deals only with where the 1P wasn’t 2105
T2 and that’s why 1 72y ax — and for Sxmw the nawn deals with 3 75°m2 and
that’s why n»>*p 1ninn

X"wann
a) Nwp

i)  Why does >"1 accept for his own nv>w that the &5°0 of the mawn on 7910 can
deal with 1> 9> but > didn’t accept for 2"aw that the x5°0 deals with 115 »19»

b) y»n

i) For o"awn who says that Hxmw holds that even a 117 alone without 2vw can
cause a mann not to be on it’s a pm7 to say that there was a o 19> with a mann
179 Hv2 — and besides we’ve established from the 17w% of the 73777 that it’s
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qanon that no n1d o> is required for nxpn where there was a 11p as in the xw»
of the mawn so for o"2wA we need to presume too that no ni2 »19 is required for
7712 in the x9°0 even if there was a 1°1p

ii) >" in fact accepts based on the P17 from the 17097 that for both 27 and Sxnw if
there is a 773 and no avw the mann is nn>>p even for 7915 where no 7737 is needed
and without r12 »19» — and for Sxmw the 7awn the same as PX1AWw MR 7717° 20
deals with where there was a vw as well as a 11p and the reason that the mann
is nevertheless n»»p is because there was 3 19>

2227 7
ax 7y Qa1 TN A 270 7 D2 Andw n"'Y nann X110

P MWW PIPT 1D MWW PIPT 70 NIRT 1D WA PIp RDWT 23 5Y AR 7R [2 7MY 23p 7]
T2 JAREAT RAWAT DM R 220 B''o "D BRIART 1 RIT PMIT PaR hwna® "2 "o e
99997 91N BOYH RNSDT PODT M2 DM KY2 IOR DRIDRY 192 N1RT TIAY I0IR 192 W oy I
27 TP IR 72 9D RDT Y0 PIT 2aR D DY AR P52 0N W'D 1D MDY Nuw ay 1ape
Boph 'R 1D MDY R TIAY PIRa DOUR 11RO RIT 1D MDA PANNNRAT KAV WWwT 2y PIp

Hm

NT'09 T"NAI NO'TIAND " Tn

"D 2O TORIY 19T 20200 IR VIRR 11D AIRW 27 VAN 71T KD 7700%2 RT 10 7901 and 7''a
JHPY RYT 29D IRY 779072 RDAT MOIRD M1 AT RO e 'y

T FIOOTY ANST RAUTT "D 0 R 717721 "1 RAT RTIMA 299 K77 12 90T RNN2AT RT0D 7''N2
H"eo H"oy "o ' e o

A7 97

15 7INMI 30 BY 171 ROUBT "2 MW KD MINT N2 13 1192 1 1 KD MER 7''R2 [R TNy MR 07
1 W KRR 7' 2R N IND DTwAm AT 7 BURD oy "o wnmwnT n'' ew e an
KDY POIP2 R ORTY NINRT RWONT RO72 0D '0IN7 a0 920 0 R 2pYY a0 awa NaY
wHD® SpaT a7 1'' "MaT WR ORTY AR PIP Y2 NEphaa »W NIRRT 99T POD DY PR an Mt

J9'PY ' 2% MIDDIN2 171 IPIR KPR N A 0T

'R PRI IR 12 2N0W YO0 200w nann AT Py

nwl TN

‘5D 12 B2 FINTI PRI 11D 1019 NPT PPN%INMY 1D PO0DT SRMK WY 7N

227 7
M " a"T nIvoIn

RDI02Y "2 77297 N3 " N 1D MWRPY QTR WATIPR PRRIn 10 1N M A [2 Ty ap 0T
NNDDIN2 "INPTD "D 2vMAWAT N2 1'T2 WOy anT RN20 XD 0 "2 AR AN InpT ol
H''2o B oy "D 2B 121 PO NI02 "D IRY IR YN TR "D n' Ranw
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N2 X 2" Th

PRI RNIRTS B''9 929 9270 RAWY "2 2R 10 7T 1102 PRINT AR 10 1uw KD X2 R 7''Ta
D "1 20w MoK DR 1D KD wRh 'R RN "D 1AM N BRROY X2 R''om "o ey
BRT 197927 90D 1927 'OINTR KUK IRP IRPIY PIVDT % 1927 2ant Wea 11T 2wn 2T
1T AWM A TN MY 3TN ONT AN NYA0A ORTIA D11 AN R 2MARNT NIAY IRMIVT DY 1My
P9I R2TT 7'TDW 7 DD XMW KD T ST 292 1202 1YY "D IND2 19727 K20 MR 7R 7Y "D
oD B bR KA 1D 77T PIYa RN PRITAT 1PN2T WhDY R RPR N 20D XYY R'IIN
NYA%2 IR AT MR 03191 AR T PEO MRT ' awa 10IDY PR INVATW 95D M7 927 2T
12N KD 719 TINRTTD N0 TR 2PRa RPD 1N2T DRI WD 7' aX PN Y 2onwan
SN 23 MIDT WERT "2 KD wN5D 3290 RN KUK 7' D By phs "o wanh R"1 20 'ownn

A Al s A

1) First nnTpn
a) Y P00 1" RNV PO — KW IPO0 "IN IRMIY PO
2) Second TP

a) TN NI DMAWAT NN — ARMIYY 02277 NIWI TR0 NI’ — 2920 1732 NAI0N nYpa
RN

3) Third anTpn

a) If a poo would be decided one way 1Pt ana and another way Xnwi n2 —jn1 "™
goes Xnwi N2

4) xma
a) TYOR "M

i) It follows from jn1 ' that if a person doesn’t know whether he entered a 7vp2
in mamn Mne or in awan M — if the person comes to 72 in [nnn Mn® when
the nypa is 22277 mwn he’s v and if the person comes to 7"a in 2w nn
when the 1ypa is 717 MW" he’s Xnw

b) xan

T DY QONWAT NI POV M2V DAR 2w NI Y0 172V ROW ROR 1w RY
IND9Y 1RO

5) w9 of oX1m 127 — "ITYOR IR PO K2
6) mooin as explained by x"wann

a) moon first assumed that ni"= holds that if the axm was in the nvpa during any
onwan Mn° — the avpa counts as 7°mn MWD even in 7ana Mn° — Mvoin disagrees
with this 7%nn for reasons not relevant here

b) mooin then says that because of the w5 nn°no of i1 it’s possible that this is the
T2 of o'

i) X217 disagrees with 21¥2x " who says that for 1n1 ' we always go xnwn 2n2a for
TRMIY PO
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ii) Instead we only go xnwi an2 if the PXw comes to 7"2 in anna m»e and he is
unsure whether he entered the w2 in this this ian nn or in the preceding
oW Mn° — so that the nearest season is n nn° and we can rely on an2
Xnwi to say he’s v

iii) but where the xw comes to us in mann mn° of year 2 and knows that he didn’t
enter the nwpa in anna N of year 2 but is unsure whether he entered in nn»
mmnn of year 1 or in the o »wan e that followed — we don’t go ®nwi7 “n2 and
say the Sxw is 27w — because o nwan nine are the days nearest to xnw: in
which the xw might have entered the nvpa

7) R"wann

a)

b)

mooINT YY1 is waon afterwards that »"5 — the 27 of mooIni Yya — says that "»no>wr
follows this mw

This 7271 explains why mooin says that 11 holds that &2 disagrees with 2139 '3
—and also explains why mooini Hva doesn’t say "w19% 7871 271" which would
have implied that >"- disagrees with "1 — and instead says "w19% 217 nxn" to
teach that >"1 agrees with n"1 and explains the 777n of "

Note also that instead of "n%w1°2 RNOXT72 M2 787 13071 ' 99270 Row" R"wAnn S
D3 "MNHWIT RNOKRTI A7 787 927 21270 KW
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